
MATHS

BOOKS - VGS BRILLIANT MATHS

(TELUGU ENGLISH)

MENSURATION

Example

1. The radius of a conical tent is 7 metres and

its height is 10 metres. Calculate the length of

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_p7kZeE7eGsFo


canvas used in making the tent if width of

canvas is 2m. 

Watch Video Solution

[  Use π = ]
22

7

2. An oil drum is in the shape of a cyinder

having the following dimensions : diameter is

2 m. and height is 7m. The painter charges Rs.

3 per  to paint the drum. Find the total

charges to be paid to the painter for 20

drums.

m2

https://dl.doubtnut.com/l/_p7kZeE7eGsFo
https://dl.doubtnut.com/l/_Ez0VvalBi2iq


Watch Video Solution

3. A sphere, a cylinder and a cone have the

same radius and same height then the ratio of

their curved surface areas is ……….

Watch Video Solution

4. A company wanted to manufacture 1000

hemispherical basins from a thin steel sheet. If

the radius of each basin is 21 cm., find the

https://dl.doubtnut.com/l/_Ez0VvalBi2iq
https://dl.doubtnut.com/l/_DjHlViXp6bZb
https://dl.doubtnut.com/l/_wZbrJG4qx0QH


required area of steel sheet required to

manufacture the above hemispherical basins ?

Watch Video Solution

5. A right circular cylinder has base radius 14

cm and height 21 cm. Find its : 

i) Area of base or area of each end 

ii) Curved surface area 

iii) Total surface area and 

iv) Volume of the right circular cylinder.

Watch Video Solution

https://dl.doubtnut.com/l/_wZbrJG4qx0QH
https://dl.doubtnut.com/l/_kEja07RlaTYJ


6. Find the volume and surface area of a

sphere of radius 2.1 cm. 

Watch Video Solution

(π = )
22

7

7. Find the volume and the total surface area

of a hemisphere of radius 3.5 cm. 

Watch Video Solution

(π = )
22

7

https://dl.doubtnut.com/l/_kEja07RlaTYJ
https://dl.doubtnut.com/l/_drBCLc5UOpuf
https://dl.doubtnut.com/l/_And6y1u0r5Ow


8. A right triangle, whose base and height are

15 cm and 20 cm. respectively is made to

revolve about its hypotenuse. Find the volume

and surface area of the doble cone so formed.

(use pi = 3.14)

Watch Video Solution

9. A wooden toy rocket is in the shape of a

cone mounted on a cylinder as shown in the

adjacent figure. The height of the entire rocket

https://dl.doubtnut.com/l/_zV0qhd7CxH6E
https://dl.doubtnut.com/l/_9rCP2QVRjxm1


is 26 cm, while the height of the conical part is

6 cm. The base of the conical position has a

diameter of 5 cm, while the base diameter of

the cylindrical portion is 3 cm. If the conical

portion is to be painted orange and the

cylindrical portion is to be painted yellow, find

the area of the rocket painted with each of

these colour.

(Take pi = 3.14)

Watch Video Solution

https://dl.doubtnut.com/l/_9rCP2QVRjxm1


10. A solid toy is in the form of a right circular

cylinder with hemispherical shape at one end

and a cone at the other end. Their common

diameter is 4.2 cm and the height of the

cylinderical and conical portions are 12 cm and

7 cm respectively. Find the volume of the solid

toy. 

Watch Video Solution

[Use π = ]
22

7

https://dl.doubtnut.com/l/_PH4zgU3tLxrk


11. A cylinderical container is filled with ice-

cream whose diameter is 12 cm and height is

15 cm. The whole ice-cream is distributed to 10

children in equal cones having hemispherical

tops. If the height of the conical portion is

twice the diameter of its base, find the

diameter of the ice-cream cone.

Watch Video Solution

https://dl.doubtnut.com/l/_0DgeafMkpoiG


12. A solid consisting of a right circular cone

standing on a hemisphere, is placed up-right

in a right circular cylinder full of water and

touches the bottom. Find the water and

touches the bottom. Find the volume of water

left in the cylinder, given that the radius of the

cylinder is 3 cm. and its height is 6 cm. The

radius of the hemisphere is 2 cm. and the

height of the cone is 4 cm. 

Watch Video Solution

[Take π = ]
22

7

https://dl.doubtnut.com/l/_hMlwEFDuygvc
https://dl.doubtnut.com/l/_tqDnLW1XZfj4


13. A cylinderical pencil is sharpened to

produce a perfect cone at one end with no

over all loss of its length. The diameter of the

pencil is 1 cm and the length of the conical

portion is 2 cm. Calculate the volume of the

shavings. Give your answer correct to two

places if it is in decimal. 

Watch Video Solution

[Use π = ]
355

113

14. A cone of height 24 cm and radius of base 6

cm is made up of modelling clay. A child

https://dl.doubtnut.com/l/_tqDnLW1XZfj4
https://dl.doubtnut.com/l/_yhw3LwylUvEx


reshapes it in the form of a sphere. Find the

radius of the sphere.

Watch Video Solution

15. The diameter of the internal and external

surfaces of a hollow hemisperical shell are 6

cm. and 10 cm. respectively. It is melted and

recast into a solid cylinder of diameter 14 cm.

Find the height of the cylinder.

Watch Video Solution

https://dl.doubtnut.com/l/_yhw3LwylUvEx
https://dl.doubtnut.com/l/_H0o08LeaLOgM
https://dl.doubtnut.com/l/_eEYyLTZbz3xb


16. A hemispherical bowl of internal radius is

15 cm. contains a liquid. The liquid is to be

filled into cylinderical bottles of diameter 5 cm.

and height 6 cm. How many bottles are

necessary to empty the bowl ?

Watch Video Solution

17. The diameter of a metallic sphere is 6 cm. It

is melted and drawn into a long wire having a

circular cross section of diameter as 2 cm. Find

the length of the wire.

https://dl.doubtnut.com/l/_eEYyLTZbz3xb
https://dl.doubtnut.com/l/_pYsEmk5bTr3v


Watch Video Solution

18. How many spherical balls can be made out

of a solid cube of lead whose edge measures

44 cm and each ball being 4 cm. in diameter ?

Watch Video Solution

19. A women self help group (DWARCA) is

supplied a rectangular solid (cuboid shape) of

wax with diameters 66 cm., 42 cm., 21., to

https://dl.doubtnut.com/l/_pYsEmk5bTr3v
https://dl.doubtnut.com/l/_Accs7UVNeqyP
https://dl.doubtnut.com/l/_2Cy35dwCvGbL


prepare cylindrical candles each 4.2 cm. in

diameter and 28 cm. of height. Find the

number of candles.

Watch Video Solution

20. The radius of a conical tent is 7 metres and

its height is 10 metres. Calculate the length of

canvas used in making the tent if width of

canvas is 2m. 

Watch Video Solution

[  Use π = ]
22

7

https://dl.doubtnut.com/l/_2Cy35dwCvGbL
https://dl.doubtnut.com/l/_lEgzILK8qlUN


21. An oil drum is in the shape of a cyinder

having the following dimensions : diameter is

2 m. and height is 7m. The painter charges Rs.

3 per  to paint the drum. Find the total

charges to be paid to the painter for 20

drums.

Watch Video Solution

m2

22. A sphere, a cylinder and a cone have the

same radius and same height then the ratio of

https://dl.doubtnut.com/l/_lEgzILK8qlUN
https://dl.doubtnut.com/l/_XQ8D3vyo2vti
https://dl.doubtnut.com/l/_t6D3g8tPydmv


their curved surface areas is ……….

Watch Video Solution

23. A company wanted to manufacture 1000

hemispherical basins from a thin steel sheet. If

the radius of each basin is 21 cm., find the

required area of steel sheet required to

manufacture the above hemispherical basins ?

Watch Video Solution

https://dl.doubtnut.com/l/_t6D3g8tPydmv
https://dl.doubtnut.com/l/_j4hGDCJqOVrV


24. A right circular cylinder has base radius 14

cm and height 21 cm. Find its : 

i) Area of base or area of each end 

ii) Curved surface area 

iii) Total surface area and 

iv) Volume of the right circular cylinder.

Watch Video Solution

25. Find the volume and surface area of a

sphere of radius 2.1 cm. (π = )
22

7

https://dl.doubtnut.com/l/_KBNhrWNy60Dg
https://dl.doubtnut.com/l/_RyIjglh64IyH


Watch Video Solution

26. Find the volume and the total surface area

of a hemisphere of radius 3.5 cm. 

Watch Video Solution

(π = )
22

7

27. A right triangle, whose base and height are

15 cm and 20 cm. respectively is made to

revolve about its hypotenuse. Find the volume

and surface area of the doble cone so formed.

(use pi = 3.14)

https://dl.doubtnut.com/l/_RyIjglh64IyH
https://dl.doubtnut.com/l/_nCY8AP3lb8qc
https://dl.doubtnut.com/l/_rYo5t7M71BhQ


Watch Video Solution

28. A wooden toy rocket is in the shape of a

cone mounted on a cylinder as shown in the

adjacent figure. The height of the entire rocket

is 26 cm, while the height of the conical part is

6 cm. The base of the conical position has a

diameter of 5 cm, while the base diameter of

the cylindrical portion is 3 cm. If the conical

portion is to be painted orange and the

cylindrical portion is to be painted yellow, find

the area of the rocket painted with each of

https://dl.doubtnut.com/l/_rYo5t7M71BhQ
https://dl.doubtnut.com/l/_2DC624s9YmqV


these colour.

(Take pi = 3.14)

Watch Video Solution

29. Find the volume of right circular cone with

radius 6 cm. and height 14 cm.

Watch Video Solution

30. A cylinderical container is filled with ice-

cream whose diameter is 12 cm and height is

https://dl.doubtnut.com/l/_2DC624s9YmqV
https://dl.doubtnut.com/l/_bYgqhuvZNIDD
https://dl.doubtnut.com/l/_xnGrQNMI053a


15 cm. The whole ice-cream is distributed to 10

children in equal cones having hemispherical

tops. If the height of the conical portion is

twice the diameter of its base, find the

diameter of the ice-cream cone.

Watch Video Solution

31. A solid consisting of a right circular cone

standing on a hemisphere, is placed up-right

in a right circular cylinder full of water and

touches the bottom. Find the water and

https://dl.doubtnut.com/l/_xnGrQNMI053a
https://dl.doubtnut.com/l/_UnLlbJepjBGT


touches the bottom. Find the volume of water

left in the cylinder, given that the radius of the

cylinder is 3 cm. and its height is 6 cm. The

radius of the hemisphere is 2 cm. and the

height of the cone is 4 cm. 

View Text Solution

[Take π = ]
22

7

32. A cylinderical pencil is sharpened to

produce a perfect cone at one end with no

over all loss of its length. The diameter of the

pencil is 1 cm and the length of the conical

https://dl.doubtnut.com/l/_UnLlbJepjBGT
https://dl.doubtnut.com/l/_KwEzuXtJc7xF


portion is 2 cm. Calculate the volume of the

shavings. Give your answer correct to two

places if it is in decimal. 

Watch Video Solution

[Use π = ]
355

113

33. A cone of height 24 cm and radius of base

6 cm is made up of modelling clay. A child

reshapes it in the form of a sphere. Find the

radius of the sphere.

Watch Video Solution

https://dl.doubtnut.com/l/_KwEzuXtJc7xF
https://dl.doubtnut.com/l/_ULybcS838FlE
https://dl.doubtnut.com/l/_8GpsHcKtbTV4


34. The internal and external diameter of a

hollow hemispherical shell are 6 cm and 10 cm

respectively. If it is melted and recast into a

solid cylinder of diameter 14 cm, then find the

height of the cylinder.

Watch Video Solution

35. A hemispherical bowl of internal radius is

15 cm. contains a liquid. The liquid is to be

filled into cylinderical bottles of diameter 5 cm.

https://dl.doubtnut.com/l/_8GpsHcKtbTV4
https://dl.doubtnut.com/l/_VAIM9vybTLg9


and height 6 cm. How many bottles are

necessary to empty the bowl ?

Watch Video Solution

36. The diameter of a metallic sphere is 6 cm. It

is melted and drawn into a long wire having a

circular cross section of diameter as 2 cm. Find

the length of the wire.

Watch Video Solution

https://dl.doubtnut.com/l/_VAIM9vybTLg9
https://dl.doubtnut.com/l/_D7dbz33tVrdt


37. How many spherical balls can be made out

of a solid cube of lead whose edge measures

44 cm and each ball being 4 cm. in diameter ?

Watch Video Solution

38. A women self help group (DWARCA) is

supplied a rectangular solid (cuboid shape) of

wax with diameters 66 cm., 42 cm., 21., to

prepare cylindrical candles each 4.2 cm. in

https://dl.doubtnut.com/l/_divHvpqVY3oM
https://dl.doubtnut.com/l/_WKA5Xv8Xoysy


Exercise 10 1

diameter and 2.8 cm. of height. Find the

number of candles.

Watch Video Solution

1. A joker's cap is in the form of right circular

cone whose base radius is 7 cm and height is

24 cm. Find the area of the sheet required to

make 10 such caps.

Watch Video Solution

https://dl.doubtnut.com/l/_WKA5Xv8Xoysy
https://dl.doubtnut.com/l/_KrwPAffGDOnn


2. A sports company was ordered to prepare

100 paper cylinders without caps for shuttle

cocks. The required dimensions of the cylinder

are 35 cm length / height and its radius is 7

cm. Find the required area of the thin paper

sheet needed to make 100 cylinders.

Watch Video Solution

3. Find the volume of right circular cone with

radius 6 cm. and height 7 cm.

https://dl.doubtnut.com/l/_KrwPAffGDOnn
https://dl.doubtnut.com/l/_1Nyx0zHyfk1j
https://dl.doubtnut.com/l/_dpAsi55dDzaX


Watch Video Solution

4. The lateral surface area of a cylinder is equal

to the curved surface area of a cone. If their

base be the same, find the ratio of the height

of the cylinder to slant height of the cone.

Watch Video Solution

5. A self help group wants to manufacture

joker's caps (conical caps) of 3 cm radius and 4

https://dl.doubtnut.com/l/_dpAsi55dDzaX
https://dl.doubtnut.com/l/_kFzJlWIet84B
https://dl.doubtnut.com/l/_f3HCLWSmALKn


cm height. If the available colour paper sheet

is 1000 , then how many caps can be

manufactured from that paper sheet ?

Watch Video Solution

cm2

6. A cylinder and cone have bases of equal

radii and are of equal heights, then their

volumes are in the ratio ……….

Watch Video Solution

https://dl.doubtnut.com/l/_f3HCLWSmALKn
https://dl.doubtnut.com/l/_iI4tSThAOvVy


7. A solid iron has cylinderical shape. Its height

is 11 cm. and base diameter is 7 cm. Then find

the total volume of 50 rods ?

Watch Video Solution

8. A heap of rice is in the form of a cone of

diameter 12 m. and height 8 m. Find its volume

? How much canvas cloth is required to cover

the heap ? 

(Use )π = 3.14

https://dl.doubtnut.com/l/_fwOgUoxZdoda
https://dl.doubtnut.com/l/_whmVMwS2J1dg


Watch Video Solution

9. CSA of a cone is 4070  and its diameter

is 70 cm then slant height is ……….. 

Watch Video Solution

cm2

cm.

10. A Joker's cap is in the form of right circular

cone, which base radius is 7 cm and height is

24 cm. Find the area of sheet required to make

10 such caps.

Watch Video Solution

https://dl.doubtnut.com/l/_whmVMwS2J1dg
https://dl.doubtnut.com/l/_foJknPunhRB7
https://dl.doubtnut.com/l/_DFcTkcykjiKO


11. A sports company was ordered to prepare

100 paper cylinders without caps for shuttle

cocks. The required dimensions of the cylinder

are 35 cm length / height and its radius is 7

cm. Find the required area of the thin paper

sheet needed to make 100 cylinders.

Watch Video Solution

https://dl.doubtnut.com/l/_DFcTkcykjiKO
https://dl.doubtnut.com/l/_X69F3fIGiZvc


12. Find the volume of right circular cone with

radius 5 cm. and height 7 cm.

Watch Video Solution

13. The lateral surface area of a cylinder is

equal to the curved surface area of a cone. If

their base be the same, find the ratio of the

height of the cylinder to slant height of the

cone.

Watch Video Solution

https://dl.doubtnut.com/l/_dbEWfhLXnkQE
https://dl.doubtnut.com/l/_QMivBeI2uwew


14. A self help group wants to manufacture

joker's caps (conical caps) of 3 cm radius and 4

cm height. If the available colour paper sheet

is 1000 , then how many caps can be

manufactured from that paper sheet ?

Watch Video Solution

cm2

15. A cylinder and cone have bases of equal

radii and are of equal heights, then their

volumes are in the ratio ……….

https://dl.doubtnut.com/l/_QMivBeI2uwew
https://dl.doubtnut.com/l/_uLoYkZKOGxCD
https://dl.doubtnut.com/l/_YlgXEUpWELrk


Watch Video Solution

16. A solid iron has cylinderical shape. Its

height is 11 cm. and base diameter is 7 cm.

Then find the total volume of 50 rods ?

Watch Video Solution

17. A heap of rice is in the form of a cone of

diameter 12 m. and height 8 m. Find its volume

? How much canvas cloth is required to cover

https://dl.doubtnut.com/l/_YlgXEUpWELrk
https://dl.doubtnut.com/l/_Jlvj5Iw3AMKi
https://dl.doubtnut.com/l/_3uXTGsFhZPqO


Exercise 10 2

the heap ? 

(Use )

Watch Video Solution

π = 3.14

18. The curved surface area of a cone is 4140

 and its diameter is 70 cm. What is its

slant height ?

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_3uXTGsFhZPqO
https://dl.doubtnut.com/l/_muqjx0x29LnM
https://dl.doubtnut.com/l/_K6CqJiC3uvOY


1. A toy is in the form of a cone mounted on a

hemisphere. The diameter of the base and the

height of the cone are 6 cm and 4 cm

respectively. Determine the surface area of the

toy. 

[Use ]

Watch Video Solution

π = 3.14

2. A solid is in the form of a right circular

cylinder with a hemisphere at one end and a

cone at the other end. The radius of the

https://dl.doubtnut.com/l/_K6CqJiC3uvOY
https://dl.doubtnut.com/l/_ikJ9hfw6Q15Q


common base is 8 cm and the heights of the

cylinderical and conical portions are 10 cm and

6 cm respectively. Find the total surface area

of the solid.  [Use ]

Watch Video Solution

            π = 3.14

3. A medicine capsule is in the shape of a

cylinder with two hemispheres stuck to each

of its ends. The length of the capsule is 14 mm.

and the width is 5 mm. Find its surface area.

Watch Video Solution

https://dl.doubtnut.com/l/_ikJ9hfw6Q15Q
https://dl.doubtnut.com/l/_duYBSUHiwIjC


4. Two cubes each of volume 64  are joined

end to end together. Find the surface area of

the resulting cuboid.

Watch Video Solution

cm3

5. A storage tank consists of a circular cylinder

with a hemisphere stuck on either end. If the

external diameter of the cylinder be 1.4 m. and

its length be 8 m. Find the cost of painting it

on the outside at rate of Rs. 20 per .m2

https://dl.doubtnut.com/l/_duYBSUHiwIjC
https://dl.doubtnut.com/l/_Ec0lskNgvBZm
https://dl.doubtnut.com/l/_L2IXmIa2sEW9


Watch Video Solution

6. A hemisphere is cut out from one face of a

cubical wooden block such that the diameter

of the hemisphere is equal to the edge of the

cube. Determine the surface area of the

remaining solid.

Watch Video Solution

https://dl.doubtnut.com/l/_L2IXmIa2sEW9
https://dl.doubtnut.com/l/_MOhYfidoW8iP


7. A wooden article was made by scooping out

a hemisphere from each end of a solid

cylinder, as shown in the figure. If the height of

the cylinder is 10 cm and its base radius is 3.5

cm, find the total surface area of the article.

Watch Video Solution

8. A toy is in the form of a cone mounted on a

hemisphere. The diameter of the base and the

height of the cone are 6 cm and 4 cm

https://dl.doubtnut.com/l/_ro2xerxQFWsu
https://dl.doubtnut.com/l/_MNHSfyTQMJMe


respectively. Determine the surface area of the

toy. 

[Use ]

Watch Video Solution

π = 3.14

9. A solid is in the form of a right circular

cylinder with a hemisphere at one end and a

cone at the other end. The radius of the

common base is 8 cm and the heights of the

cylinderical and conical portions are 10 cm and

https://dl.doubtnut.com/l/_MNHSfyTQMJMe
https://dl.doubtnut.com/l/_tiXGaq782v7l


6 cm respectively. Find the total surface area

of the solid.  [Use ]

Watch Video Solution

            π = 3.14

10. A medicine capsule is in the shape of a

cylinder with two hemispheres stuck to each

of its ends. The length of the capsule is 14 mm.

and the width is 5 mm. Find its surface area.

Watch Video Solution

https://dl.doubtnut.com/l/_tiXGaq782v7l
https://dl.doubtnut.com/l/_DiTnkS775ABt


11. Two cubes each of volume 64  are

joined end to end together. Find the surface

area of the resulting cuboid.

Watch Video Solution

cm3

12. A storage tank consists of a circular

cylinder with a hemisphere stuck on either

end. If the external diameter of the cylinder be

1.4 m. and its length be 8 m. Find the cost of

https://dl.doubtnut.com/l/_bXct3fzpbwEv
https://dl.doubtnut.com/l/_v7D7qCkT2KEa


painting it on the outside at rate of Rs. 20 per

.

View Text Solution

m2

13. A hemisphere is cut out from one face of a

cubical wooden block such that the diameter

of the hemisphere is equal to the edge of the

cube. Determine the surface area of the

remaining solid.

Watch Video Solution

https://dl.doubtnut.com/l/_v7D7qCkT2KEa
https://dl.doubtnut.com/l/_aDhWzs2ZzokI
https://dl.doubtnut.com/l/_uZ16ED2eNSer


Exercise 10 3

14. A wooden article was made by scooping

out a hemisphere from each end of a solid

cylinder, as shown in the figure. If the height of

the cylinder is 10 cm and its base radius is 3.5

cm, find the total surface area of the article.

Watch Video Solution

1. An iron pillar consists of a cylindrical portion

of 2.8 m. height and 20 cm. in diameter and a

https://dl.doubtnut.com/l/_uZ16ED2eNSer
https://dl.doubtnut.com/l/_cp9rmngWXdNk


cone of 42 cm. height surmounting it. Find the

weight of the pillar if 1  of iron weighs 7.5

g.

Watch Video Solution

cm3

2. A toy is made in the form of hemisphere

surmounted by a right cone whose circular

base is joined with the plane surface of the

hemisphere. The radius of the base of the

cone is 7 cm. and its volume is 3/2 of the

hemisphere. Calculate the height of the cone

https://dl.doubtnut.com/l/_cp9rmngWXdNk
https://dl.doubtnut.com/l/_dCSaEN0x6s78


and the surface area of the toy correct to 2

places of decimal. 

Watch Video Solution

(Take π = 3 )
1

7

3. Find the volume of the largest right circular

cone that can be cut out a cube whose edge is

7 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_dCSaEN0x6s78
https://dl.doubtnut.com/l/_GyV9TnmeVrY0


4. A cylindrical tub of radius 5 cm and length

9.8 cm is full of water. A solid in the form of

right circular cone mounted on a hemisphere

is immersed into the tub. The radius of the

hemisphere is 3.5 cm and height of cone

outside the hemisphere is 5 cm. Find the

volume of water left in the tub. 

Watch Video Solution

                   (Take π = )
22

7

https://dl.doubtnut.com/l/_yFE7yaqsxzwA


5. In the adjacent figure, the height of a solid

cylinder is 10 cm and diameter is 7 cm. Two

equal conical holes of radius 3 cm and height

4 cm are cut off as shown in the figure. Find

the volume of the remaining solid.

Watch Video Solution

6. Spherical marbles of diameter 1.4 cm. are

dropped into a cylindrical beaker of diameter 7

cm., which contains some water. Find the

https://dl.doubtnut.com/l/_KxGpV9w7BqxZ
https://dl.doubtnut.com/l/_h4ZBfth2yB1p


number of marbles that should be dropped

into the beaker, so that water level rises by 5.6

cm.

Watch Video Solution

7. A pen stand is made of wood in the shape of

cuboid with three conical depressions to hold

the pens. The dimensions of the cuboid are 15

cm by 10 cm by 3.5 cm. The radius of each of

the depression is 0.5 cm and the depth is 1.4

https://dl.doubtnut.com/l/_h4ZBfth2yB1p
https://dl.doubtnut.com/l/_MyECGIQcu4cH


cm. Find the volume of wood in the entire

stand.

Watch Video Solution

8. An iron pillar consists of a cylindrical

portion of 2.8 m. height and 20 cm. in

diameter and a cone of 42 cm. height

surmounting it. Find the weight of the pillar if

1  of iron weighs 7.5 g.

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_MyECGIQcu4cH
https://dl.doubtnut.com/l/_vYsJNItgRDsh
https://dl.doubtnut.com/l/_RDXFgA6VB9Nw


9. A toy is made in the form of hemisphere

surmounted by a right cone whose circular

base is joined with the plane surface of the

hemisphere. The radius of the base of the

cone is 7 cm. and its volume is 3/2 of the

hemisphere. Calculate the height of the cone

and the surface area of the toy correct to 2

places of decimal. 

Watch Video Solution

(Take π = 3 )
1

7

https://dl.doubtnut.com/l/_RDXFgA6VB9Nw


10. Find the volume of right circular cone with

radius 6 cm. and height 7 cm.

Watch Video Solution

11. A cylindrical tub of radius 5 cm and length

9.8 cm is full of water. A solid in the form of

right circular cone mounted on a hemisphere

is immersed into the tub. The radius of the

hemisphere is 3.5 cm and height of cone

outside the hemisphere is 5 cm. Find the

https://dl.doubtnut.com/l/_L1hOsoU58D76
https://dl.doubtnut.com/l/_ZZM4odqiWq9j


volume of water left in the tub. 

Watch Video Solution

                   (Take π = )
22

7

12. In the adjacent figure, the height of a solid

cylinder is 10 cm and diameter is 7 cm. Two

equal conical holes of radius 3 cm and height

4 cm are cut off as shown in the figure. Find

the volume of the remaining solid.

Watch Video Solution

https://dl.doubtnut.com/l/_ZZM4odqiWq9j
https://dl.doubtnut.com/l/_jrCkBqL8I4Vb
https://dl.doubtnut.com/l/_pDmmafDDT92Q


13. Spherical marbles of diameter 1.4 cm. are

dropped into a cylindrical beaker of diameter 7

cm., which contains some water. Find the

number of marbles that should be dropped

into the beaker, so that water level rises by 5.6

cm.

Watch Video Solution

14. A pen stand is made of wood in the shape

of cuboid with three conical depressions to

hold the pens. The dimensions of the cuboid

https://dl.doubtnut.com/l/_pDmmafDDT92Q
https://dl.doubtnut.com/l/_gyQKk9pZRpfy


Exercise 10 4

are 15 cm by 10 cm by 3.5 cm. The radius of

each of the depression is 0.5 cm and the depth

is 1.4 cm. Find the volume of wood in the

entire stand.

Watch Video Solution

1. A metallic sphere of radius 4.2 cm. is melted

and recast into the shape of a cylinder of

radius 6 cm. Find the height of the cylinder.

https://dl.doubtnut.com/l/_gyQKk9pZRpfy
https://dl.doubtnut.com/l/_Y3uYTK4jEBZm


Watch Video Solution

2. Three metallic spheres of radii 6 cm., 8 cm.

and 10 cm. respectively are melted together to

form a single solid sphere. Find the radius of

the resulting sphere.

Watch Video Solution

3. A 20 m deep well with diameter 7 m. is dug

and the earth got by digging is evenly spread

https://dl.doubtnut.com/l/_Y3uYTK4jEBZm
https://dl.doubtnut.com/l/_3qrhKk3EefLr
https://dl.doubtnut.com/l/_eCec1GWZK80W


out to form a rectangular platform of base

22m.  14m. Find the height of the platform.

Watch Video Solution

×

4. A well of diameter 14m. is dug 15m. deep.

The earth taken out of it has been spread

evenly all around it in the shape of a circular

ring of width 7 m to form an embankment.

Find the height of the embankment.

Watch Video Solution

https://dl.doubtnut.com/l/_eCec1GWZK80W
https://dl.doubtnut.com/l/_xFhiZw9xkbvr
https://dl.doubtnut.com/l/_hLwMbyEd0tG9


5. A container shaped like a right circular

cylinder having diameter 12 cm. and height 15

cm. is full of ice-cream. The ice-cream is to be

filled into cones of height 12 cm. and diameter

6 cm., having a hemispherical shape on the

top. Find the number of such cones which can

be filled with ice-cream.

Watch Video Solution

6. How many silver coins, 1.75 cm in diameter

and thickness 2mm., need to be melted to

https://dl.doubtnut.com/l/_hLwMbyEd0tG9
https://dl.doubtnut.com/l/_3rjyRDJRK5vX


form a cuboid of dimensions 5.5 cm  10 cm 

 3.5 cm ?

Watch Video Solution

×

×

7. A vessel is in the form of an inverted cone.

Its height is 8 cm. and the radius of its top is 5

cm.It is filled with water up to the rim. When

lead shots, each of which is a sphere of radius

0.5 cm are dropped into the vessel, 1/4 of the

water flows out. Find the number of lead shots

dropped into the vessel.

https://dl.doubtnut.com/l/_3rjyRDJRK5vX
https://dl.doubtnut.com/l/_MwLpkjTa6USI


Watch Video Solution

8. A solid metallic sphere of diameter 28 cm is

melted and recast into a number of smaller

cones, each of diameter  and height 3 cm.

Find the number of cones so formed.

Watch Video Solution

4
2

3

9. A metallic sphere of radius 4.2 cm. is melted

and recast into the shape of a cylinder of

radius 6 cm. Find the height of the cylinder.

https://dl.doubtnut.com/l/_MwLpkjTa6USI
https://dl.doubtnut.com/l/_7UysKu0U00b0
https://dl.doubtnut.com/l/_wiNtfEAw7Dg6


Watch Video Solution

10. Three metallic spheres of radii 6 cm., 8 cm.

and 10 cm. respectively are melted together to

form a single solid sphere. Find the radius of

the resulting sphere.

Watch Video Solution

11. A 20 m deep well with diameter 7 m. is dug

and the earth got by digging is evenly spread

https://dl.doubtnut.com/l/_wiNtfEAw7Dg6
https://dl.doubtnut.com/l/_QKuu7hkQDTv2
https://dl.doubtnut.com/l/_dzTcdu5DZS5i


out to form a rectangular platform of base

22m.  14m. Find the height of the platform.

Watch Video Solution

×

12. A well of diameter 14m. is dug 15m. deep.

The earth taken out of it has been spread

evenly all around it in the shape of a circular

ring of width 7 m to form an embankment.

Find the height of the embankment.

Watch Video Solution

https://dl.doubtnut.com/l/_dzTcdu5DZS5i
https://dl.doubtnut.com/l/_h1Y2Lb4IlyJS
https://dl.doubtnut.com/l/_5tVuWvVnoWyt


13. A container shaped like a right circular

cylinder having diameter 12 cm. and height 15

cm. is full of ice-cream. The ice-cream is to be

filled into cones of height 12 cm. and diameter

6 cm., having a hemispherical shape on the

top. Find the number of such cones which can

be filled with ice-cream.

Watch Video Solution

14. How many silver coins, 1.75 cm in diameter

and thickness 2mm., need to be melted to

https://dl.doubtnut.com/l/_5tVuWvVnoWyt
https://dl.doubtnut.com/l/_VBUqNJCJedbE


form a cuboid of dimensions 5.5 cm  10 cm 

 3.5 cm ?

Watch Video Solution

×

×

15. A vessel is in the form of an inverted cone.

Its height is 8 cm. and the radius of its top is 5

cm.It is filled with water up to the rim. When

lead shots, each of which is a sphere of radius

0.5 cm are dropped into the vessel, 1/4 of the

water flows out. Find the number of lead shots

dropped into the vessel.

https://dl.doubtnut.com/l/_VBUqNJCJedbE
https://dl.doubtnut.com/l/_0z8ZEXKkcuRe


Optional Exercise

Watch Video Solution

16. A solid
metallic sphere of diameter 28 cm is

melted and recast into a number of
 smaller

cones, each of diameter 
 cm and
 height 3

cm. Find the number of cones so formed.

Watch Video Solution

4
2

3

https://dl.doubtnut.com/l/_0z8ZEXKkcuRe
https://dl.doubtnut.com/l/_tSYRT1zZUWG8


1. A golf ball has diameter equal to 4.1 cm. Its

surface has 150 dimples each of radius 2mm.

Calculate total surface which is exposed to the

surroundings. (Assume that the dimples are all

hemispherical) 

Watch Video Solution

          [π = 22/7]

2. A cyclinder of radius 12 cm. contains water

to a depth of 20 cm. A spherical iron ball is

dropped into the cylinder and thus the level of

https://dl.doubtnut.com/l/_y46WGtA3tuyD
https://dl.doubtnut.com/l/_tcCqw6J9Z17N


water is raised by 6.75 cm. Find the radius of

the ball. 

Watch Video Solution

[π = ]
22

7

3. A solid toy is in the form of a right circular

cylinder with a hemispherical shape at one

end and a cone at the other end. Their

common diameter is 4.2 cm. and height of the

cyclindrical and conical portion are 12 cm. and

https://dl.doubtnut.com/l/_tcCqw6J9Z17N
https://dl.doubtnut.com/l/_uBZ182cMJrxq


7 cm. respectively. Find the volume of the solid

toy. 

Watch Video Solution

         [π = 22/7]

4. Three metal cubes with edges 15 cm., 12 cm.

and 9 cm. respectively are melted together

and formed into a simple cube. Find the

diagonal of this cube.

Watch Video Solution

https://dl.doubtnut.com/l/_uBZ182cMJrxq
https://dl.doubtnut.com/l/_UcIXgpeG6vX4


5. A hemispherical bowl of internal diameter

36 cm. contains a liquid. This liquid is to be

filled in cyclindrical bottles of radius 3 cm. and

height 6 cm. How many bottles are required to

empty the bowl ?

Watch Video Solution

6. A golf ball has diameter equal to 4.1 cm. Its

surface has 150 dimples each of radius 2mm.

Calculate total surface which is exposed to the

https://dl.doubtnut.com/l/_Q9NfSUtVtoos
https://dl.doubtnut.com/l/_hSE5adxwml13


surroundings. (Assume that the dimples are all

hemispherical) 

Watch Video Solution

          [π = 22/7]

7. A cyclinder of radius 12 cm. contains water

to a depth of 20 cm. A spherical iron ball is

dropped into the cylinder and thus the level of

water is raised by 6.75 cm. Find the radius of

the ball. 

Watch Video Solution

[π = ]
22

7

https://dl.doubtnut.com/l/_hSE5adxwml13
https://dl.doubtnut.com/l/_qRxdXDL77mQB


8. A solid toy is in the form of a right circular

cylinder with hemispherical shape at one end

and a cone at the other end. Their common

diameter is 4.2 cm and the height of the

cylinderical and conical portions are 12 cm and

7 cm respectively. Find the volume of the solid

toy. 

Watch Video Solution

[Use π = ]
22

7

https://dl.doubtnut.com/l/_qRxdXDL77mQB
https://dl.doubtnut.com/l/_d4x0UQyDM43m
https://dl.doubtnut.com/l/_QZnGA0LxZ28t


9. Three metal cubes with edges 15 cm., 12 cm.

and 9 cm. respectively are melted together

and formed into a simple cube. Find the

diagonal of this cube.

Watch Video Solution

10. A hemispherical bowl of internal diameter

36 cm. contains a liquid. This liquid is to be

filled in cyclindrical bottles of radius 3 cm. and

height 6 cm. How many bottles are required to

empty the bowl ?

https://dl.doubtnut.com/l/_QZnGA0LxZ28t
https://dl.doubtnut.com/l/_5Xl5oKBNHglF


Try This

Watch Video Solution

1. Consider the following situations. In each

find out whether you need volume or area and

why ? 

i) Quantity of water inside a bottle. 

ii) Canvas needed for making a tent. 

iii) Gas filled in a cylinder.

Watch Video Solution

https://dl.doubtnut.com/l/_5Xl5oKBNHglF
https://dl.doubtnut.com/l/_nN0UaSwuiPo2


2. State 5 more such examples and ask your

friends to choose volume or area. what they

need?

Watch Video Solution

3. Break the pictures in the previous figure

into solids of known shapes.

Watch Video Solution

https://dl.doubtnut.com/l/_GUKAL5mu3viY
https://dl.doubtnut.com/l/_RwMNahOXc8wm


4. Think of 5 more objects around you that can

be seen as a combination of shapes. Name the

shapes that combined to make them.

Watch Video Solution

5. Use known solid shapes and make as many

objects (by combining more than two) as

possible that you come across in your daily

life. 

https://dl.doubtnut.com/l/_BnPSW2FlkAyb
https://dl.doubtnut.com/l/_ap1lo2GsYtg4


[Hint : Use clay, or balls, pipes, paper cones,

boxes likes cube, cuboid etc]

Watch Video Solution

6. If the diameter of the cross - section of a

wire is decreased by 5%, by what percentage

should the length be increased so that the

volume remains the same ?

Watch Video Solution

https://dl.doubtnut.com/l/_ap1lo2GsYtg4
https://dl.doubtnut.com/l/_ZTXgEJZvxuWa


7. Surface area of a sphere and cube are equal.

Then find the ratio of their volumes.

Watch Video Solution

8. Consider the following situations. In each

find out whether you need volume or area and

why ? 

i) Quantity of water inside a bottle. 

ii) Canvas needed for making a tent. 

iii) Gas filled in a cylinder.

https://dl.doubtnut.com/l/_H7UUPAtemQtf
https://dl.doubtnut.com/l/_IS5n8mOsYTLR


Watch Video Solution

9. Break the pictures in the previous figure

into solids of known shapes.

Watch Video Solution

10. Think of 5 more objects around you that

can be seen as a combination of shapes. Name

the shapes that combined to make them.

Watch Video Solution

https://dl.doubtnut.com/l/_IS5n8mOsYTLR
https://dl.doubtnut.com/l/_j4BA7P0K8Aqa
https://dl.doubtnut.com/l/_ba1sexg2L107


11. If the diameter of the cross - section of a

wire is decreased by 5%, by what percentage

should the length be increased so that the

volume remains the same ?

Watch Video Solution

12. Surface area of a sphere and cube are

equal. Then find the ratio of their volumes.

Watch Video Solution

https://dl.doubtnut.com/l/_RozWrkVI8D8L
https://dl.doubtnut.com/l/_FyB7HIKw3OYd


Think Discuss

1. A sphere is inscribed in a cylinder. Is the

surface of the sphere equal to the curved

surface fo the cylinder ? If yes, explain how.

Watch Video Solution

2. Which barrel shown in the below figure can

hold more water? Discuss with your friends.

Watch Video Solution

https://dl.doubtnut.com/l/_oLB1R5VXIqpd
https://dl.doubtnut.com/l/_0woPC0G9cSb9


Do This

1. A copper rod of diameter 1 cm. and length 8

cm. is drawn into a wire of length 18 m of

uniform thickness. Find the thickness of the

wire.

Watch Video Solution

2. Parvali house has a water tank in the shape

of a cylinder on the roof. This is filled by

pumping water from a sump (an underground

https://dl.doubtnut.com/l/_Ufn0uQtdnTf6
https://dl.doubtnut.com/l/_C5Xt5Wpn72LO


tank) which is in the shape of a cuboid. The

sump has dimensions 1.57 m  1.44 m  9.5

cm. The water tank has radius 60 cm. and

height 95 cm. Find the height of the water left

in the sump after the water tank has been

completely filled with water from the sump

which had been full of water. Compare the

capacity of the tank with that of the sump. (

=3.14)

Watch Video Solution

× ×

π

https://dl.doubtnut.com/l/_C5Xt5Wpn72LO


3. A copper rod of diameter 1 cm. and length 8

cm. is drawn into a wire of length 18 m of

uniform thickness. Find the thickness of the

wire.

Watch Video Solution

4. Parvali house has a water tank in the shape

of a cylinder on the roof. This is filled by

pumping water from a sump (an underground

tank) which is in the shape of a cuboid. The

https://dl.doubtnut.com/l/_LvD6ZQf8Z4r6
https://dl.doubtnut.com/l/_ZNDJLyc5ugBj


Observation Material

sump has dimensions 1.57 m  1.44 m  9.5

cm. The water tank has radius 60 cm. and

height 95 cm. Find the height of the water left

in the sump after the water tank has been

completely filled with water from the sump

which had been full of water. Compare the

capacity of the tank with that of the sump. (

=3.14)

Watch Video Solution

× ×

π

https://dl.doubtnut.com/l/_ZNDJLyc5ugBj
https://dl.doubtnut.com/l/_A4O67zw5FCCA


1. Find the volume of a sphere of radius 21 cm.

(Take =22/7)

Watch Video Solution

π

2. Find the total surface area of a hemisphere,

whose radius is 7 cm.

Watch Video Solution

3. Find the volume of right circular cone with

radius 3 cm. and height 14 cm.

https://dl.doubtnut.com/l/_A4O67zw5FCCA
https://dl.doubtnut.com/l/_C2FiP0uscdNC
https://dl.doubtnut.com/l/_DT1AJRSreaS7


Watch Video Solution

4. If a cyclinder and cone are of the same

radius and height, then how many cones full

of milk can fill the cylinder ? Answer with

reasons.

Watch Video Solution

5. If the radius of the hemisphere is 21 cm,

then find its volume.

https://dl.doubtnut.com/l/_DT1AJRSreaS7
https://dl.doubtnut.com/l/_L5dSWNAIp26R
https://dl.doubtnut.com/l/_l0PCOQrJ0KXY


Watch Video Solution

6. A conical solid block is exactly fitted inside

the cubical box of side 'a' then the volume of

conical solid block is . If this statement

true. Justify.

Watch Video Solution

πa34
3

7. If the surface area of a hemisphere is ,'S'

then express 'r' interms of 'S'.

Watch Video Solution

https://dl.doubtnut.com/l/_l0PCOQrJ0KXY
https://dl.doubtnut.com/l/_0JhcCHpzFkQo
https://dl.doubtnut.com/l/_Cz94v1pO27Zm


8. Find the curved surface area of a cylinder of

radius 14 cm and height 21 cm. 

Watch Video Solution

(π = 22/7)

9. Write the formula to find curved surface

area of a cone and explain each term in it.

Watch Video Solution

https://dl.doubtnut.com/l/_Cz94v1pO27Zm
https://dl.doubtnut.com/l/_vdQW4UlKYKnO
https://dl.doubtnut.com/l/_BsK4Fs1LP73J
https://dl.doubtnut.com/l/_Jq6mUVSlbCkj


10. If a cone is inscribed in a cylinder, what is

the ratio of their volumes ?

Watch Video Solution

11. The vertex angle of a cone is . Find the

ratio of diameter with the height of the cone.

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_Jq6mUVSlbCkj
https://dl.doubtnut.com/l/_TTdRIp8NDUJO


12. "Cuboid is one of right prism". Is it true?

Justify.

Watch Video Solution

13. Find the curved surface area of cylinder,

whose radius is 7cm. And height is 10 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_QJ0mzkchDVCY
https://dl.doubtnut.com/l/_cjPybobH8ZDo


14. Find the volume and total surface area of a

hemisphere whose radius is 35 cm?

Watch Video Solution

15. A solid iron has cylinderical shape. Its

height is 11 cm. and base diameter is 7 cm.

Then find the total volume of 50 rods ?

Watch Video Solution

https://dl.doubtnut.com/l/_FN9s8UN3Pnyy
https://dl.doubtnut.com/l/_CSw9BmFfOYPk


16. Two cubes each of volume  are

joined end to end together. Find the total

surface area of the resulting cuboid.

Watch Video Solution

125cm3

17. The base area of a cone is 616 sq.cm and its

height is 48 cm. Find its total surface area.

Watch Video Solution

https://dl.doubtnut.com/l/_cjE2WEiMEdRJ
https://dl.doubtnut.com/l/_rmfe5oXZ1VGy


18. The radius of a spherical ballon increases

from 7 cm to 14 cm as air is pumped into it.

Find the ratio of volumes of balloon before

and after pumping the air.

Watch Video Solution

19. Find the volume and surface area of a

sphere of radius 42 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_VBdcsuG1I0n3
https://dl.doubtnut.com/l/_KccC3vi2LR1J
https://dl.doubtnut.com/l/_hmgObj2MncXf


20. A solid metallic ball of volume 64  is

melted and made into a solid cube. Find the

side of solid cube.

Watch Video Solution

cm3

21. A toy is in the form of a cone mounted on a

hemisphere. The radius of the base and the

height of the cone are 7 cm and 8 cm

respectively. Find the surface area of the toy.

Watch Video Solution

(π = 22/7)

https://dl.doubtnut.com/l/_hmgObj2MncXf
https://dl.doubtnut.com/l/_ZMy9O391mcz5


22. The diameter of a solid sphere is 6 cm. It is

melted and recast into a solid cylinder of

height 4 cm. Find the radius of cylinder.

Watch Video Solution

23. The height and the base radius of a Cone

and a Cylinder are equal to the radius of a

Sphere. Find the ratio of the their volumes.

Watch Video Solution

https://dl.doubtnut.com/l/_ZMy9O391mcz5
https://dl.doubtnut.com/l/_oLPPSs5mQoVp
https://dl.doubtnut.com/l/_mYyINutF4AH4


24. The radius of a conical tent is 5m and its

height is 12m. Calculate the length of the

canvas used in making the tent if width of

canvas is 2cm.

Watch Video Solution

25. How many spherical balls can be made out

of a solid cube of lead whose edge measures

66 cm. and each ball being 3 cm in radius ?

Watch Video Solution

https://dl.doubtnut.com/l/_mYyINutF4AH4
https://dl.doubtnut.com/l/_hRsKVaOk5P6H
https://dl.doubtnut.com/l/_JPNIVr8nfoEC


26. A medicine capsule is in the shape of a

cylinder with two hemispheres stock to each

of its ends. If the length of cylinder part is

14mm and the diameter of hemisphere is 6

mm. then find the volume of medicine capsule.

Watch Video Solution

27. The area of a sector-shaped canvas cloth is

264 . With this canvas cloth, If a rightm2

https://dl.doubtnut.com/l/_JPNIVr8nfoEC
https://dl.doubtnut.com/l/_bTaHuQM8QMOw
https://dl.doubtnut.com/l/_pIgFUxagb4fA


circular conical tent is erected with the radius

of the base as 7 m, then find the height of the

tent. 

(use )

Watch Video Solution

π = 22/7

28. DWARCA is supplied cuboidal shaped wax

block with measurements 88 cm  42 cm 

35 cm. From this how many number of

cylinderical candles of 2.8 cm diametre and 8

cm of height can be prepared ?

× ×

https://dl.doubtnut.com/l/_pIgFUxagb4fA
https://dl.doubtnut.com/l/_o03q3VZ2PfvE


Watch Video Solution

29. How many spherical balls each 7 cm in

diameter can be made out of a solid lead cube

whose edge measures 66 cm ?

Watch Video Solution

30. The length of cuboid is 12 cm, breadth and

height are equal in measurements and its

volume is .The cuboid is cut into 2432cm3

https://dl.doubtnut.com/l/_o03q3VZ2PfvE
https://dl.doubtnut.com/l/_GNP2gbOxb5ne
https://dl.doubtnut.com/l/_FOI9r8lw66zx


cubes. Find the lateral surface area of each

cube.

Watch Video Solution

31. How many silver coins of diameter 5 cm and

thickness 4 mm have to be melted to prepare

a cuboid of 12 cm  11 cm  5 cm

dimension ?

Watch Video Solution

× ×

https://dl.doubtnut.com/l/_FOI9r8lw66zx
https://dl.doubtnut.com/l/_opurBTH2FxZ1


Creative Questions For Cce Model Examination

32. An oil drum is in the shape of cylinder ,

whose diameter is 2m and height is 7m. The

painter charges Rs 5 per  to paint the

drum. Find the total charges to be paid to the

painter for 10 drums.

Watch Video Solution

m2

https://dl.doubtnut.com/l/_bcDcvVqrIpVS


1. What is area of required cloth to make 10

conical hats having 7 cm ground radius and 24

cm height ?

Watch Video Solution

2. A circle having 21 cm radius is cut into 3

equal parts to make 3 equal circular cones.

Then what will be the radius of such cone ?

Watch Video Solution

https://dl.doubtnut.com/l/_y2WnuGUdr1uu
https://dl.doubtnut.com/l/_BEBe3eOv8ady
https://dl.doubtnut.com/l/_r4ET4vxTysyG


3. Define "Regular cone". Deduce formula for

slant height of a regular cone.

Watch Video Solution

4. Draw a cone and label them.

Watch Video Solution

5. Which kind of cones are formed by rotating

on their axis of following triangles ? 

https://dl.doubtnut.com/l/_r4ET4vxTysyG
https://dl.doubtnut.com/l/_gs2ZkHpH9OtP
https://dl.doubtnut.com/l/_x6KduRnvmZxI


a) Equilateral b) Right angled 

c) Scalene

Watch Video Solution

6. A sphere, a cylinder and a cone have the

same radius and same height. Find the ratio of

their volumes. 

[Hint : Diameter of the sphere is equal to the

heights of the cylinder and the cone.]

Watch Video Solution

https://dl.doubtnut.com/l/_x6KduRnvmZxI
https://dl.doubtnut.com/l/_CBvcEQt1la66
https://dl.doubtnut.com/l/_fDdZf4PHLjA6


7. What is area of required cloth to make 10

conical hats having 7 cm ground radius and 24

cm height ?

Watch Video Solution

8. A circle having 21 cm radius is cut into 3

equal parts to make 3 equal circular cones.

Then what will be the radius of such cone ?

Watch Video Solution

https://dl.doubtnut.com/l/_fDdZf4PHLjA6
https://dl.doubtnut.com/l/_86vbEDQlIq6t
https://dl.doubtnut.com/l/_6xEaFwsCKhC5


9. Define "Regular cone". Deduce formula for

slant height of a regular cone.

Watch Video Solution

10. Draw a cone and label them.

Watch Video Solution

11. Which kind of cones are formed by rotating

on their axis of following triangles ? 

https://dl.doubtnut.com/l/_6xEaFwsCKhC5
https://dl.doubtnut.com/l/_g2C4p4KM3vRH
https://dl.doubtnut.com/l/_isbZ4iFJIEK5


a) Equilateral b) Right angled 

c) Scalene

Watch Video Solution

12. A sphere, a cylinder and a cone have the

same radius and same height. Find the ratio of

their volumes. 

[Hint : Diameter of the sphere is equal to the

heights of the cylinder and the cone.]

Watch Video Solution

https://dl.doubtnut.com/l/_isbZ4iFJIEK5
https://dl.doubtnut.com/l/_f88JwBoCF25S


Observation Bits To Solve Various Bits

1. The total surface area of a cube is 54 

then its side is ……… cm.

A. 6

B. 9

C. 12

D. 3

Answer: D

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_QpDJaqVKFWEa


2. Base area of a regular cylinder is 154 

then its radius is ……….

A. 49 cm

B. 7 cm

C. 22 cm

D. 14 cm

Answer: B

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_QpDJaqVKFWEa
https://dl.doubtnut.com/l/_gWUVU7TVjs1X


3. If the height and radius of a cone are 1.5 and

8 cm then its slant height = ……….. cm.

A. 2.5

B. 7.5

C. 8.14

D. 10

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_LMUmn5qCvy9o
https://dl.doubtnut.com/l/_teq5tEmtakB7


4. Curved surface area of a hemisphere =

……………

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

πr2

πr21

3

3πr2

2πr2

https://dl.doubtnut.com/l/_teq5tEmtakB7


5. Volume of a cube having 1 cm side is ………….

A. 1 

B. 3 

C. 1 

D. 3 

Answer: A

Watch Video Solution

cm3

cm3

cm2

cm2

https://dl.doubtnut.com/l/_F1Wwonh7Gs0v


6. Ratio of volumes of two spheres is 8:27 then

ratio of their curved surface areas is ……

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2: 3

4: 27

8: 9

4: 9

https://dl.doubtnut.com/l/_PTRbSozjcsOk
https://dl.doubtnut.com/l/_fnek5F6MDCd0


7. Football is an example of ……

A. circle

B. cylinder

C. sphere

D. cone

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_fnek5F6MDCd0


8. The volume of a cube is 216  then edge

is ……….. cm.

A. 6

B. 4

C. 8

D. 16

Answer: A

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_GgswxVQV9sQ6
https://dl.doubtnut.com/l/_wl6p8G8tsCp3


9. the curved surface area of a right circular

cylinder is …….. sq. units.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

πr2h

2πr(h + r)

2πrh

πrl

https://dl.doubtnut.com/l/_wl6p8G8tsCp3


10. The curved surface area of a sphere will be

……., whose radius is 10 cm.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

239π

400π

221π

129π

https://dl.doubtnut.com/l/_Cgn92nsNBqeJ
https://dl.doubtnut.com/l/_hIH6npt78iSx


11. The volume of a cube will be ……….

 whose total surface area is 216 

.

A. 216

B. 196

C. 212

D. 144

Answer: A

Watch Video Solution

(in cm3),

cm2

https://dl.doubtnut.com/l/_hIH6npt78iSx
https://dl.doubtnut.com/l/_O4iKtGiaPs8k


12. A famous book written by ancient

mathematician Aryabhatta is ……..

A. Arya Tharkram

B. Aryabhatteeyam

C. Siddhantha Siromani

D. Karana Kuthuhalam

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_O4iKtGiaPs8k


13. Which of the following vessel can be filled

with more water (A, B are in cylindrical shape)

? 

A. A

B. B

C. both are equal

D. cannot be determined

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_d2xgrcg1Jpyv


14. The volume of right circular cylinder with

radius 6 cm and height 7 cm is ……… .

A. 642

B. 927

C. 264

D. 792

Answer: D

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_XvUnd2hDAipo
https://dl.doubtnut.com/l/_pfUgEh9VFDUy


15. A sphere of radius 'r' inscribed in a cylinder.

The surface area of the sphere ……. of the

cylinder.

A. total surface area

B. curved surface area

C. volume

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_pfUgEh9VFDUy
https://dl.doubtnut.com/l/_6lv3wyQ6rtzw


16. The maximum length of the stick that can

be placed in a cuboid, whose measurements

are , is ………..

A. 8

B. 9

C. 12

D. 13

Answer: B

Watch Video Solution

8 × 4 × 1

https://dl.doubtnut.com/l/_6lv3wyQ6rtzw


17. A cylinder and cone have bases of equal

radii and are of equal heights, then their

volumes are in the ratio ……….

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1: 1

1: 3

3: 1

1: 9

https://dl.doubtnut.com/l/_XXumb6W1C9Ib


18. Total surface area of a solid hemisphere of

radius 7 cm. is …… .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cm2

21π

49π

147π

98π

https://dl.doubtnut.com/l/_3lyZP5P7iNKN
https://dl.doubtnut.com/l/_CO7iqNUWfnEC


19. Radius of a cone is 'r', height is 'h' and its

slant height is ' ' then which of the following is

false ?

A. always 

B. always 

C. always 

D. 

Answer: C

Watch Video Solution

l

l > h

l > r

r > l

l2 = r2 + h2

https://dl.doubtnut.com/l/_CO7iqNUWfnEC
https://dl.doubtnut.com/l/_KsAJM1LAJpow


20. Radius, height, slant height of a cone are r,

h, l, then 'l' value in terms of r and h is ….

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√h2 − r2

√r2 + h2

√r2 − h2

√4r2 + h2

https://dl.doubtnut.com/l/_KsAJM1LAJpow


21. Ratio of volumes of two spheres is 8:27

then ratio of their curved surface areas is ……

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2: 3

4: 3

2: 9

4: 9

https://dl.doubtnut.com/l/_vlrbQ5lO3lhR
https://dl.doubtnut.com/l/_5jhYRUszCbwJ


22. A solid ball is exactly fitted inside the

cubical box of side 'a'. The volume of the ball is

…

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

πa31

3

πa31

6

πa34
3

πa38

3

https://dl.doubtnut.com/l/_5jhYRUszCbwJ
https://dl.doubtnut.com/l/_0fjqvnf2zd0j


23. If the total surface area of cube is 96 ,

then side of cube is …………

A. 3 cm

B. 5 cm

C. 6 cm

D. 4 cm

Answer: D

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_0fjqvnf2zd0j


24. Base area of the prism is 30  and its

height is 10 cm. Then the volume of the prism

is ……..

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cm2

300cm3

300cm2

150cm2

150cm3

https://dl.doubtnut.com/l/_JEhaKciOe8Ik


25. The volume of a cone with base radius 7 cm

is 462 c.c., its height is

A. 9 cm

B. 18 cm

C. 3 cm

D. 27 cm

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_VvWd82ZLFA3b
https://dl.doubtnut.com/l/_u29uJt8KcEPN


26. If total surface area of a cube is 96 ,

then its volume is ………

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cm2

32cm3

64cm3

128cm3

256cm3

https://dl.doubtnut.com/l/_u29uJt8KcEPN


27. The volume of cone, whose radius is 3 cm

and height is 8 cm, is ….. .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cm3

6π

12π

18π

24π

https://dl.doubtnut.com/l/_OH2CeUYFAmE4


Creative Bits For Cce Model Examination

1. Find the total surface area of a hemisphere,

whose radius is 7 cm.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

239πcm2

449πcm2

221πcm2

129πcm2

https://dl.doubtnut.com/l/_P9kp4T6fO7zR


2. The curved surface area of a right circular

cone of height 15 cm and base diameter 16 cm

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

144πcm2

136πcm2

105πcm2

120πcm2

https://dl.doubtnut.com/l/_P9kp4T6fO7zR
https://dl.doubtnut.com/l/_ow408Frfvi6E


3. A conical flask is full of water. The flask has

base radius r and height h. The water is

poured into a cylindrical flask of base radius

mr. Find the height of water in the cylindrical

flask

A. 

B. 

C. 

D. 

h

3m2

h

4m2

3m2

h2

m

3h

https://dl.doubtnut.com/l/_ow408Frfvi6E
https://dl.doubtnut.com/l/_3W9knVPIAb47


Answer: A

Watch Video Solution

4. The surface areas of two spheres are in the

ratio 1:4 then, ratio of their volumes is

A. 

B. 

C. 

D. 

1: 4

2: 8

1: 16

1: 8

https://dl.doubtnut.com/l/_3W9knVPIAb47
https://dl.doubtnut.com/l/_RmHjgJmNGIOJ


Answer: D

Watch Video Solution

5. The volume of the largest right circular cone

that can be cut out from a cube of edge 4.2 cm

is

A. 

B. 

C. 

D. 

19.4cm3

74.6cm3

9.7cm3

8.4cm3

https://dl.doubtnut.com/l/_RmHjgJmNGIOJ
https://dl.doubtnut.com/l/_FHSoLYL1VxGW


Answer: A

Watch Video Solution

6. The diameter of a metallic sphere is 6 cm

and melted to draw a wire of diameter 0.2 cm,

then the length of the wire is

A. 48 cm

B. 12 cm

C. 36 cm

D. 24 cm

https://dl.doubtnut.com/l/_FHSoLYL1VxGW
https://dl.doubtnut.com/l/_npp7FzitrS2C


Answer: C

Watch Video Solution

7. A solid sphere of radius r melted and recast

into the shape of a solid cone of height r, then

radius of the base of the cone is (of equal

volume)

A. 2r

B. r

C. 3r

https://dl.doubtnut.com/l/_npp7FzitrS2C
https://dl.doubtnut.com/l/_qaEnM9ZusMMs


D. 4r

Answer: A

Watch Video Solution

8. The ratio of volume of a cone and cylinder of

equal diameter and height is

A. 

B. 

C. 

3: 1

1: 2

2: 1

https://dl.doubtnut.com/l/_qaEnM9ZusMMs
https://dl.doubtnut.com/l/_rmQGWlZz07g1


D. 

Answer: D

Watch Video Solution

1: 3

9. A solid iron cuboid of dimensions

 is melted to form a solid

sphere then its radius is

A. 24 cm

B. 21 cm

49 × 33 × 24cm

https://dl.doubtnut.com/l/_rmQGWlZz07g1
https://dl.doubtnut.com/l/_KbuzWpQ7yAGq


C. 18 cm

D. 13 cm

Answer: B

Watch Video Solution

10. If the radii of circular ends of a frustum of a

cone are 20 cm and 12 cm and its height is 6

cm, then the slant height of the frustum is …….

cm.

https://dl.doubtnut.com/l/_KbuzWpQ7yAGq
https://dl.doubtnut.com/l/_1HIKwdKuOwTR


A. 10

B. 6

C. 9

D. 8

Answer: A

Watch Video Solution

11. The number of balls, each of radius 1 cm

that can be made from a solid sphere of radius

8 cm is

https://dl.doubtnut.com/l/_1HIKwdKuOwTR
https://dl.doubtnut.com/l/_YKMm8LowNLyY


A. 64

B. 216

C. 16

D. 512

Answer: D

Watch Video Solution

12. An iron cylindrical rod has a height 4 times

its radius is melted and cast into spherical

https://dl.doubtnut.com/l/_YKMm8LowNLyY
https://dl.doubtnut.com/l/_D3Vmdcb31HiJ


balls of the same radius. The number of balls

cast is

A. 4

B. 3

C. 2

D. 1

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_D3Vmdcb31HiJ


13. The ratio of volume of two cones is 4:5 and

the ratio of the radii of their base is 2:3 then

ratio of their vertical heights is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4: 5

9: 5

3: 5

2: 5

https://dl.doubtnut.com/l/_eOQdLmWYERAR


14. A cone and a hemisphere have equal bases

and equal volumes then the ratio of their

heights is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2: 1

3: 1

4: 1

1: 1

https://dl.doubtnut.com/l/_GDk5U7l5hPsh


15. The volume of a vessel in the form of a

right circular cylinder is  and its

height is 7 cm, then the radius of the base is

A. 2 cm

B. 8 cm

C. 6 cm

D. 4 cm

Answer: B

Watch Video Solution

448π  cm3

https://dl.doubtnut.com/l/_iUZpZwisej1S


16. The volume of the greatest cylinder that

can be cut from a solid wooden cube of length

of edge 14 cm is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2156cm3

10783

5393

4283

https://dl.doubtnut.com/l/_slXSvF0DNc0K


17. The volume of a cube will be ……….

 whose total surface area is 216 

.

A. 216

B. 196

C. 212

D. 144

Answer: A

Watch Video Solution

(in cm3),

cm2

https://dl.doubtnut.com/l/_rsH5Bd8NrA5D


18. A shuttle cock is a combination of

A. Cylinder, sphere

B. Sphere, cone

C. Cylinder, hemisphere

D. Hemisphere, frustum cone

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_mmhqqHunO71f


19. Find the total surface area of a hemisphere,

whose radius is 7 cm.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

327π

144π

147π

189π

https://dl.doubtnut.com/l/_12HY3Jszv0P0
https://dl.doubtnut.com/l/_c6pstskx5zjC


20. If the radius of base of a cylinder is

doubled and the height remains unchanged,

its C.S.A becomes

A. double

B. 3 times

C. half

D. no change

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_c6pstskx5zjC
https://dl.doubtnut.com/l/_93DtXb2qaTFX


21. The number of cubes of side 2 cm which

can be cut from a cube of side 6 cm is

A. 3

B. 18

C. 27

D. 9

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_93DtXb2qaTFX


22. The volume and surface area of a sphere

are numerically equal. Then the volume of the

smallest cylinder in which the sphere is exactly

kept

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

54π

27π

36π

9π

https://dl.doubtnut.com/l/_ixFeGG1O0wdg


Watch Video Solution

23. If the diameter of a sphere is 'd' then its

volume is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

πd31

6

πd34
3

πd31

24

πd31

3

https://dl.doubtnut.com/l/_ixFeGG1O0wdg
https://dl.doubtnut.com/l/_Yme0scDOg0l4


24. If the ratio of radii of two spheres is 2:3

then the ratio of their surface areas is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3: 2

27: 8

8: 27

4: 9

https://dl.doubtnut.com/l/_Yme0scDOg0l4
https://dl.doubtnut.com/l/_YVFJc6Ffx3do


25. A cylinder, a cone and a hemisphere are of

equal base and have the same height, then the

ratio of their volumes is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3: 1: 2

3: 2: 1

1: 2: 3

1: 3: 2

https://dl.doubtnut.com/l/_OUeEyoyyydUm


26. If a cone is cut into two parts by a

horizontal plane passing through the mid

point of the axis, the ratio of the volumes of

the upper part and the cone is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1: 2

1: 4

1: 6

1: 8

https://dl.doubtnut.com/l/_kYjEvzjKUTQW


27. The height of a cylinder is doubled and

radius is tripled then its curved surface area

will become ….. times.

A. 7

B. 6

C. 9

D. 12

Answer: B

https://dl.doubtnut.com/l/_kYjEvzjKUTQW
https://dl.doubtnut.com/l/_GSc09WX9wlHk


Watch Video Solution

28. Diameter of a sphere which can inscribe a

cube of edge x cm is ….

A. 

B. 

C. 

D. x

Answer: D

Watch Video Solution

x

3

x2

3

x√3

https://dl.doubtnut.com/l/_GSc09WX9wlHk
https://dl.doubtnut.com/l/_Oy4auvZ1ec0J


29. Ratio of volumes of a cone, a cylinder and a

hemisphere of same base, radius and equal

heights is ………..

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

1: 3: 2

2: 1: 7

1: 2: 3

https://dl.doubtnut.com/l/_Oy4auvZ1ec0J
https://dl.doubtnut.com/l/_HnpRBWrEpdpl


30. Total surface area of hemisphere of radius

r is ……………

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

πr2

2πr2

3πr2

https://dl.doubtnut.com/l/_HnpRBWrEpdpl
https://dl.doubtnut.com/l/_QmlcAUprKYTy


31. Volume of a frustrum of a cone is …….

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

(R2 + r2 + R. r)
πh

3

(R2 + r2)
π

3

(R2 + r2)
πh

3

https://dl.doubtnut.com/l/_QmlcAUprKYTy
https://dl.doubtnut.com/l/_aQQDJNQ4jn2R


32. If the length of each diagonal of a cube is

doubled, then its volume become ……… times.

A. 7

B. 8

C. 9

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_GTXRO4t3HN8k
https://dl.doubtnut.com/l/_70nYU9r8p0XE


33. If a right angled triangle is revolved about

its hypotenuse then it will form a ………..

A. double cone

B. triple cone

C. only cone

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_70nYU9r8p0XE


34. A solid sphere of radius 10 cm is moulded

into 8 spherical solid balls of equal radius,

then radius of small spherical balls is ……….. cm.

A. 10

B. 9

C. 6

D. 5

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_uFqyIrvhc4Xe


35. In a hollow cuboid box of size  m,

the number of solid iron spherical balls of

radius 0.5 m that can be packed …………

A. 71

B. 45

C. 22

D. 16

Answer: B

Watch Video Solution

4 × 3 × 2

https://dl.doubtnut.com/l/_yPuVgagGQ0w9


36. If the external and internal radii of a hollow

hemispherical bowl are R and r, then its total

surface area is …….

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

πr2 + R2

πR2 + r2

πR2 + r

π(3R2 + r2)

https://dl.doubtnut.com/l/_dA0ozHqIPtWw


37. Volume of cylinder is ……… cu. units.

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

πr2h

πr2

π/r

https://dl.doubtnut.com/l/_JOrcBkwlLFjD


38. Volume of cone is …… cu. units.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

πr2h
1

7

πr3h
1

2

πr2h

πr2h
1

3

https://dl.doubtnut.com/l/_0UVW2rlqgopz


39. Volume ofsphere is ….. cu. units.

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

πr2h
4
3

πr34
3

πr31

3

https://dl.doubtnut.com/l/_jR4voo2b5JIq


40. Volume of hemisphere is …… cu. units.

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

πr2h
1

7

πr2h
1

3

πr32

3

https://dl.doubtnut.com/l/_G1lCb1pg6vsa


41. Volume of cuboid = ……… cu. units.

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

l2b

lbh2

lbh

https://dl.doubtnut.com/l/_rngydUOncEVB


42. Total surface area of cylinder is ……… sq.

units.

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

2πr2 + 2πrh

πr2 + πr

πr2 + πl

https://dl.doubtnut.com/l/_HizeuDNzvru3
https://dl.doubtnut.com/l/_dUlOWIu0O7dV


43. Total surface area of hemisphere is ………..

sq. units.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

πrh + πr2

2πr + π

2πrh2

2πrh + 2πr2

https://dl.doubtnut.com/l/_dUlOWIu0O7dV


44. Total surface area of hemisphere is ………..

sq. units.

A. 

B. 

C. 

D. none

Answer: D

Watch Video Solution

πr2

h

4πr2

8πr2h

https://dl.doubtnut.com/l/_2fmpM15U2wv6
https://dl.doubtnut.com/l/_6PpJzahtTEIh


45. Surface area of a sphere is ……….. sq. units.

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

πr2 /2

4πr2

8πr2

46. Total surface area of cube is ……….sq. units.

https://dl.doubtnut.com/l/_6PpJzahtTEIh
https://dl.doubtnut.com/l/_YL6hstU6QVwZ


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6l2

4l2

3l2

9l2

47. Volume of a cube is ….. cu. units.

A. 3a3

https://dl.doubtnut.com/l/_YL6hstU6QVwZ
https://dl.doubtnut.com/l/_6Ga4HYXmxHXr


B. 

C. 

D. none

Answer: C

Watch Video Solution

a2h

a3

48. CSA of hemisphere is ……..sq. units.

A. 

B. 

2πr2

πr2

https://dl.doubtnut.com/l/_6Ga4HYXmxHXr
https://dl.doubtnut.com/l/_IWlyPgnbXHZi


C. 

D. 

Answer: A

Watch Video Solution

3πr2

64πr2

49. CSA of cylinder is ….. sq. units.

A. 

B. 

C. 

2πrh

πrh

πr/h

https://dl.doubtnut.com/l/_IWlyPgnbXHZi
https://dl.doubtnut.com/l/_Y8VnF6d8ICsA


D. none

Answer: A

Watch Video Solution

50. The volume of a cube is 216  then edge

is ……….. cm.

A. 9

B. 10

C. 16

cm3

https://dl.doubtnut.com/l/_Y8VnF6d8ICsA
https://dl.doubtnut.com/l/_TcpwY8HmD2ox


D. 6

Answer: D

Watch Video Solution

51. CSA of none = …… sq. units.

A. 

B. 

C. 

D. 

π2r2l

πrl2

πr2

πrl

https://dl.doubtnut.com/l/_TcpwY8HmD2ox
https://dl.doubtnut.com/l/_IlSx8R04yOmG


Answer: D

Watch Video Solution

52. In a cone, r=7 cm, h=10 cm then l= ……….. cm.

A. 12.2

B. 9.2

C. 10.1

D. none

Answer: A

https://dl.doubtnut.com/l/_IlSx8R04yOmG
https://dl.doubtnut.com/l/_CfbrU0mc6yeX


Watch Video Solution

53. Laddu is an example of ………

A. circle

B. cone

C. sphere

D. none

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_CfbrU0mc6yeX
https://dl.doubtnut.com/l/_3u7VngIGLhUy


54. 

A. 22/7

B. 

C. 

D. none

Answer: A

Watch Video Solution

π = …………….

2/7

22/3

https://dl.doubtnut.com/l/_3u7VngIGLhUy
https://dl.doubtnut.com/l/_IES0qs5T2Rov


55. The volume of a hemisphere of radius 3.5

cm is ………… .

A. 70.73

B. 189.83

C. 98.14

D. 89.83

Answer: D

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_gBpAmeG6lwNO
https://dl.doubtnut.com/l/_2mPhiw8DhnSO


56. In a cube, a = 4 cm then 

TSA = ………….. 

Watch Video Solution

cm2.

57. Find the volume of right circular cone with

radius 6 cm. and height 7 cm.

A. 462

B. 264

C. 486

D. none

https://dl.doubtnut.com/l/_2mPhiw8DhnSO
https://dl.doubtnut.com/l/_OQMD8DHZQB5G


Answer: B

Watch Video Solution

58. In the above problem =…

A. 1

B. 2

C. 3

D. none

Answer: D

a5

https://dl.doubtnut.com/l/_OQMD8DHZQB5G
https://dl.doubtnut.com/l/_NDxMD35KVDoi


Watch Video Solution

59. A heap of rice is in the form of a cone of

diameter 12 m and height 8 m then volume is

………. .

A. 110.53

B. 301.71

C. 310.51

D. none

Answer: B

m3

https://dl.doubtnut.com/l/_NDxMD35KVDoi
https://dl.doubtnut.com/l/_26j0DE1Y0XJL


Watch Video Solution

60. In a cylinder, r = 8 cm, h = 10 cm, CSA =

………….. .

A. 

B. 

C. 

D. none

Answer: A

cm3

3520

7

1520

9

3310

41

https://dl.doubtnut.com/l/_26j0DE1Y0XJL
https://dl.doubtnut.com/l/_TVfnv92YMdUQ


Watch Video Solution

61. A sphere, a cylinder and a cone have the

same radius and same height then the ratio of

their curved surface areas is ……….

A. 

B. 

C. 

D. 

Answer: D

1: 3: 4

4: 4: 1

1: 5: √3

4: 4: √5

https://dl.doubtnut.com/l/_TVfnv92YMdUQ
https://dl.doubtnut.com/l/_GTEJk5Gc7INZ


Watch Video Solution

62. In a hemisphere, r = 1.75 cm then CSA =

………….. .

A. 19.25

B. 

C. 

D. none

Answer: A

Watch Video Solution

cm2

48.5

93.5

https://dl.doubtnut.com/l/_GTEJk5Gc7INZ
https://dl.doubtnut.com/l/_H0GEg4BI7gUI


63. Volume of cone if r = 2 cm, h = 4 cm is

…………..

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

π
16

3

π
6

7

π
18

31

https://dl.doubtnut.com/l/_H0GEg4BI7gUI
https://dl.doubtnut.com/l/_Gn68BxAA9IDz


64. Surface area of a sphere and cube are

equal. Then find the ratio of their volumes.

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

√π : 1

√π : √6

π : √6

https://dl.doubtnut.com/l/_Gn68BxAA9IDz
https://dl.doubtnut.com/l/_jPxVyceZfnmY
https://dl.doubtnut.com/l/_M89q976I9jnW


65. In a hemisphere, r=7 cm then CSA = 

A. 210

B. 308

C. 114

D. 112

Answer: B

Watch Video Solution

cm2.

https://dl.doubtnut.com/l/_M89q976I9jnW


66. In a cylinder, r = 7m, h = 15 m then V =

…………… .

A. 1170

B. 1120

C. 2310

D. 1320

Answer: C

Watch Video Solution

m3

https://dl.doubtnut.com/l/_dUZvpLiUUmwQ
https://dl.doubtnut.com/l/_Vo6MLSosuHsO


67. Diagonals of a cuboid is ……… units.

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

√l2 + b2 + h2

l√b2 + h2

b√h2 + r2

68. Heap of stones is an example of

https://dl.doubtnut.com/l/_Vo6MLSosuHsO
https://dl.doubtnut.com/l/_XMXTdmirkz13


A. cylinder

B. cone

C. circle

D. none

Answer: B

Watch Video Solution

69. In the figure,  
l2 = …………. .

https://dl.doubtnut.com/l/_XMXTdmirkz13
https://dl.doubtnut.com/l/_eBimSW1chrjj


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

h2 + r2

√l2 + h2

h2 + r

h + r2

70. Area of equilateral triangle of side 'a' units

is …….. sq. units.

https://dl.doubtnut.com/l/_eBimSW1chrjj
https://dl.doubtnut.com/l/_8jOaojGBOMG8


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

a21

√3

a24

√3

a
√3

4

a2√3

4

71. Perimeter of square is 20 cm then A = ……….

cm2.

https://dl.doubtnut.com/l/_8jOaojGBOMG8
https://dl.doubtnut.com/l/_h84eK2S8Jg5Y


A. 12

B. 16

C. 25

D. none

Answer: C

Watch Video Solution

72. Diagonal of rectangle is ………. units.

A. √l2 + b2

https://dl.doubtnut.com/l/_h84eK2S8Jg5Y
https://dl.doubtnut.com/l/_uVjCarQ4RMD5


B. 

C. 

D. 

Answer: A

Watch Video Solution

√l + b

l + √b

√l + b

73. Diagonal of a cube is ……. units.

A. 

B. 

3√a

√3a2

https://dl.doubtnut.com/l/_uVjCarQ4RMD5
https://dl.doubtnut.com/l/_WF6DW17RKR1w


C. 

D. 

Answer: D

Watch Video Solution

√3

a

a√3

74.  = ………litre.

A. 1

B. 2

C. 4

103(cm)3

https://dl.doubtnut.com/l/_WF6DW17RKR1w
https://dl.doubtnut.com/l/_2cuvJ6WaVpYs


D. 5

Answer: A

Watch Video Solution

75. Volume of hollow cylinder is ….

A. 

B. 

C. 

D. 

πR − r

πr2 − R

πR2 − r

π(R2 − r2)

https://dl.doubtnut.com/l/_2cuvJ6WaVpYs
https://dl.doubtnut.com/l/_tJKjtt5mu6kW


Answer: D

Watch Video Solution

76. ……… gave the symbol .

A. Euler

B. Pepe

C. Mount

D. None

Answer: A

π

https://dl.doubtnut.com/l/_tJKjtt5mu6kW
https://dl.doubtnut.com/l/_9KjzM1BoBd7r


Watch Video Solution

77. In a cone, (l+r)(l-r) = ………

A. 

B. 2h

C. h

D. none

Answer: A

Watch Video Solution

h2

https://dl.doubtnut.com/l/_9KjzM1BoBd7r
https://dl.doubtnut.com/l/_r4ia8y7DTQZ6


78. A cuboid has dimensions 

then its volume is ……..

A. 190

B. 780

C. 680

D. 480

Answer: D

Watch Video Solution

10 × 8 × 6cm

cm3.

https://dl.doubtnut.com/l/_r4ia8y7DTQZ6
https://dl.doubtnut.com/l/_NmbhaYQVINh3
https://dl.doubtnut.com/l/_RR7wtl1UR0Vf


79. CSA of a cone is 4070  and its diameter

is 70 cm then slant height is ……….. 

A. 27

B. 17

C. 37

D. 16

Answer: C

Watch Video Solution

cm2

cm.

https://dl.doubtnut.com/l/_RR7wtl1UR0Vf
https://dl.doubtnut.com/l/_cMfGyjrJIR7q


80. The sphere is of radius 2.1 cm then its

volume is ………. 

A. 38.80

B. 381.2

C. 83.01

D. none

Answer: A

Watch Video Solution

cm3.

https://dl.doubtnut.com/l/_cMfGyjrJIR7q


81. In  then l =

……….

A. 20

B. 17

C. 16

D. 19

Answer: B

Watch Video Solution

l2 = h2 + r2, h = 15, r = 8

https://dl.doubtnut.com/l/_8nkuPFkYI8NN
https://dl.doubtnut.com/l/_lZaWiUJIitca


82. The surface area of a sphere is 616 sq.cm.

then its radius is …… cm.

A. 16

B. 12

C. 9

D. 7

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_lZaWiUJIitca


83. Base circumference of a cylinder is 220 cm

and height is 63 cm then 

CSA= …………. .

A. 11810

B. 11680

C. 13860

D. 18360

Answer: C

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_7LBeigyXxWqX


84. In a cone, d = 14 cm, l = 10 cm then 

CSA = …………. .

A. 220

B. 140

C. 160

D. none

Answer: A

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_UjBEaIm0ipqd
https://dl.doubtnut.com/l/_AcHmOjvbIsPP


85. In a cube, a = 4 cm then 

TSA = ………….. 

A. 12

B. 70

C. 96

D. none

Answer: C

Watch Video Solution

cm2.

https://dl.doubtnut.com/l/_AcHmOjvbIsPP


86. Number of edges of a cuboid is ……

A. 11

B. 16

C. 10

D. 12

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_C81sjz1CDgsy


87. If the diagonals of a rhombus are 10 cm

and 24 cm then area is ……. 

A. 120

B. 160

C. 180

D. none

Answer: A

Watch Video Solution

cm2.

https://dl.doubtnut.com/l/_Tac0h2W5b4ge
https://dl.doubtnut.com/l/_ngbmHFRG9YfA


88. Volume of cone with d as diameter and h

as height is ……… 

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

units3.

πd2

6

πd2h

12

πdh2

12

https://dl.doubtnut.com/l/_ngbmHFRG9YfA


89. The area of the base of a right circular

cone is 78.5 . If its height is 12 cm then its

volume is ………. .

A. 110

B. 814

C. 413

D. 314

Answer: D

Watch Video Solution

cm2

cm3

https://dl.doubtnut.com/l/_xmeLggQuGJp4


90. In a cube a=5 cm TSA=....... 

Watch Video Solution

cm2

91. The volume of cone is 

then h = ……. cm.

A. 9

B. 10

C. 11

D. none

462cm3, r = 7cm

https://dl.doubtnut.com/l/_w8WTqDKLID9e
https://dl.doubtnut.com/l/_qMUyg647gBNY


Answer: A

Watch Video Solution

92. In a cylinder, h = 14 cm, V = 176 , r =

……………….. cm.

A. 1

B. 10

C. 6

D. 2

cm3

https://dl.doubtnut.com/l/_qMUyg647gBNY
https://dl.doubtnut.com/l/_dJf9VvD2sllT


Answer: D

Watch Video Solution

93. The area of equilateral triangle is 

then the perimeter is ……… cm.

A. 36

B. 63

C. 16

D. 10

36√3cm2

https://dl.doubtnut.com/l/_dJf9VvD2sllT
https://dl.doubtnut.com/l/_wNEisuxdIndP


Answer: A

Watch Video Solution

94. TSA of cylinder is , h = 20 cm then

its volume is ……… cm.

A. 1080

B. 3080

C. 1480

D. 9023

1188cm2

https://dl.doubtnut.com/l/_wNEisuxdIndP
https://dl.doubtnut.com/l/_ow7TVFn7bRtw


Answer: B

Watch Video Solution

95. Surface area of a cube of side 27 cm is ……….

.

A. 1474

B. 8174

C. 1374

D. 4374

cm3

https://dl.doubtnut.com/l/_ow7TVFn7bRtw
https://dl.doubtnut.com/l/_lxAeebCxrfs8


Answer: D

Watch Video Solution

96. The perimeter of an equilateral triangle is

60 cm then its area is …………… 

A. 149.3

B. 170.1

C. 137.4

D. 173.2

cm2.

https://dl.doubtnut.com/l/_lxAeebCxrfs8
https://dl.doubtnut.com/l/_eNGSGEWlATUO


Answer: D

Watch Video Solution

97. Volume of hemisphere is 19404  then

its TSA = ……….. .

A. 4118

B. 3158

C. 1459

D. 4158

cm3

cm2

https://dl.doubtnut.com/l/_eNGSGEWlATUO
https://dl.doubtnut.com/l/_Us5sRfNArlPW


Answer: D

Watch Video Solution

98. If the diagonal of a cube is 2.5 m then

volume is …………. 

A. 3.01

B. 4.01

C. 8.1

D. none

m3.

https://dl.doubtnut.com/l/_Us5sRfNArlPW
https://dl.doubtnut.com/l/_kFiZHA4S0Uap


Answer: D

Watch Video Solution

99.  then r = ………..

A. 13

B. 19

C. 10

D. 12

Answer: D

r3 = 1728

https://dl.doubtnut.com/l/_kFiZHA4S0Uap
https://dl.doubtnut.com/l/_WOKSYgm3dELI


Watch Video Solution

100. Football is an example of ……

A. circle

B. sphere

C. cone

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_WOKSYgm3dELI
https://dl.doubtnut.com/l/_QREQIgyEimQW


101. Number of faces of a cuboid is ……

A. 9

B. 10

C. 6

D. 8

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_QREQIgyEimQW
https://dl.doubtnut.com/l/_KKpcY99TTTPS


102. Total surface area of a solid hemisphere of

radius 7 cm. is …… .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cm2

239πcm2

449πcm2

221πcm2

129πcm2

https://dl.doubtnut.com/l/_vmz0lMbwGlRg
https://dl.doubtnut.com/l/_9GgjBp08LUXe


103. The curved surface area of a right circular

cone of height 15 cm and base diameter 16 cm

is ……………. .

Watch Video Solution

104. A conical flask is full of water. The flask has

base radius r and height h. The water is

poured into a cylindrical flask of base radius

mr. Find the height of water in the cylindrical

flask

https://dl.doubtnut.com/l/_9GgjBp08LUXe
https://dl.doubtnut.com/l/_2PRAUKe3Jku8


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

h

3m2

h

4m2

3m2

h2

m

3h

105. The surface areas of two spheres are in

the ratio 1:4 then, ratio of their volumes is

https://dl.doubtnut.com/l/_2PRAUKe3Jku8
https://dl.doubtnut.com/l/_tHXPU2fYxyx5


Watch Video Solution

106. The volume of the largest right circular

cone that can be cut out from a cube of edge

4.2 cm is

Watch Video Solution

107. The diameter of a metallic sphere is 6 cm

and melted to draw a wire of diameter 0.2 cm,

then the length of the wire is

Watch Video Solution

https://dl.doubtnut.com/l/_tHXPU2fYxyx5
https://dl.doubtnut.com/l/_Nw1Aya9SiIsd
https://dl.doubtnut.com/l/_FLlrBazoLszO


108. A solid sphere of radius r melted and

recast into the shape of a solid cone of height

r, then radius of the base of the cone is (of

equal volume)

A. 2r

B. r

C. 3r

D. 4r

Answer: A

https://dl.doubtnut.com/l/_FLlrBazoLszO
https://dl.doubtnut.com/l/_avDRaj69Viwf


Watch Video Solution

109. The ratio of volume of a cone and cylinder

of equal diameter and height is

A. 

B. 

C. 

D. 

Answer: D

3: 1

1: 2

2: 1

1: 3

https://dl.doubtnut.com/l/_avDRaj69Viwf
https://dl.doubtnut.com/l/_Sbp0YrC5z5ej


Watch Video Solution

110. A solid iron cuboid of dimensions

 is melted to form a solid

sphere then its radius is

A. 24 cm

B. 21 cm

C. 18 cm

D. 13 cm

Answer: B

49 × 33 × 24cm

https://dl.doubtnut.com/l/_Sbp0YrC5z5ej
https://dl.doubtnut.com/l/_msQtqZ9Axg3J


Watch Video Solution

111. If the radii of circular ends of a frustum of

a cone are 20 cm and 12 cm and its height is 6

cm, then the slant height of the frustum is …….

cm.

A. 10

B. 6

C. 9

D. 8

https://dl.doubtnut.com/l/_msQtqZ9Axg3J
https://dl.doubtnut.com/l/_w7UAEkytMMtN


Answer: A

Watch Video Solution

112. The number of balls, each of radius 1 cm

that can be made from a solid sphere of radius

8 cm is

Watch Video Solution

113. An iron cylindrical rod has a height 4 times

its radius is melted and cast into spherical

https://dl.doubtnut.com/l/_w7UAEkytMMtN
https://dl.doubtnut.com/l/_uxTlY1IsWsin
https://dl.doubtnut.com/l/_sYfBICvGvVlH


balls of the same radius. The number of balls

cast is

A. 4

B. 6

C. 2

D. 1

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_sYfBICvGvVlH


114. The ratio of volume of two cones is 4:5

and the ratio of the radii of their base is 2:3

then ratio of their vertical heights is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4: 5

9: 5

3: 5

2: 5

https://dl.doubtnut.com/l/_VxpMQO5Bpynj


115. A cone and a hemisphere have equal bases

and equal volumes then the ratio of their

heights is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2: 1

3: 1

4: 1

1: 1

https://dl.doubtnut.com/l/_0AafbpraoRan


116. The volume of a vessel in the form of a

right circular cylinder is  and its

height is 7 cm, then the radius of the base is

Watch Video Solution

448π  cm3

117. The volume of the greatest cylinder that

can be cut from a solid wooden cube of length

of edge 14 cm is

A. 

B. 

2156cm3

10783

https://dl.doubtnut.com/l/_tCt8GRFjiCsQ
https://dl.doubtnut.com/l/_bAPQi7778hHP


C. 

D. 

Answer: A

Watch Video Solution

5393

4283

118. Total surface area of a cube is 

then its volume is ………. .

Watch Video Solution

216cm2

cm3

https://dl.doubtnut.com/l/_bAPQi7778hHP
https://dl.doubtnut.com/l/_bMlk4pSMSM55


119. A shuttle cock is a combination of

A. Cylinder, sphere

B. Sphere, cone

C. Cylinder, hemisphere

D. Hemisphere, frustum cone

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_twegzAjwwVgU


120. T.S.A of a solid hemisphere whose radius is

22 cm is ………. 

Watch Video Solution

cm2.

121. If the radius of base of a cylinder is

doubled and the height remains unchanged,

its C.S.A becomes

A. double

B. 3 times

https://dl.doubtnut.com/l/_pTW1U9TYg0PO
https://dl.doubtnut.com/l/_txE9zwxDwmG1


C. half

D. no change

Answer: A

Watch Video Solution

122. The volume of a right circular cone with

radius 9 cm and height 14 cm is ……….

Watch Video Solution

https://dl.doubtnut.com/l/_txE9zwxDwmG1
https://dl.doubtnut.com/l/_bf2H4wH2knTa


123. The volume and surface area of a sphere

are numerically equal. Then the volume of the

smallest cylinder in which the sphere is exactly

kept

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

54π

27π

36π

9π

https://dl.doubtnut.com/l/_7QDgFFT1dAgh


Watch Video Solution

124. If the diameter of a sphere is 'd' then its

volume is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

πd31

6

πd34
3

πd31

24

πd31

3

https://dl.doubtnut.com/l/_7QDgFFT1dAgh
https://dl.doubtnut.com/l/_tMb0stkJ5sdt


125. If the ratio of radii of two spheres is 3:4

then the ratio of their surface areas is

Watch Video Solution

126. A cylinder, a cone and a hemisphere are of

equal base and have the same height, then the

ratio of their volumes is

A. 

B. 

3: 1: 2

3: 2: 1

https://dl.doubtnut.com/l/_tMb0stkJ5sdt
https://dl.doubtnut.com/l/_3aSHb3XDzpJn
https://dl.doubtnut.com/l/_hX1dIDpS04gI


C. 

D. 

Answer: A

Watch Video Solution

1: 2: 3

1: 3: 2

127. If a cone is cut into two parts by a

horizontal plane passing through the mid

point of the axis, the ratio of the volumes of

the upper part and the cone is

https://dl.doubtnut.com/l/_hX1dIDpS04gI
https://dl.doubtnut.com/l/_YegGMuNNGijj


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1: 2

1: 4

1: 6

1: 8

128. The height of a cylinder is doubled and

radius is tripled then its curved surface area

will become ….. times.

https://dl.doubtnut.com/l/_YegGMuNNGijj
https://dl.doubtnut.com/l/_HRKFTuCquyh5


A. 7

B. 6

C. 9

D. 12

Answer: B

Watch Video Solution

129. Diameter of a sphere which can inscribe a

cube of edge x cm is ….

https://dl.doubtnut.com/l/_HRKFTuCquyh5
https://dl.doubtnut.com/l/_vwkgwMANBfya


A. 

B. 

C. 

D. x

Answer: D

Watch Video Solution

x

3

x2

3

x

√3

130. Ratio of volumes of a cylinder and a

hemisphere of equal radius and heights is

………..

https://dl.doubtnut.com/l/_vwkgwMANBfya
https://dl.doubtnut.com/l/_Xd9Seg8zS9kG


Watch Video Solution

131. Total surface area of hemisphere of radius

r is ……………

A. 

B. 

C. 

D. none

Answer: C

πr2

2πr2

3πr2

https://dl.doubtnut.com/l/_Xd9Seg8zS9kG
https://dl.doubtnut.com/l/_eHa11NAwvQJw


Watch Video Solution

132. Volume of a frustrum of a cone is …….

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

(R2 + r2 + R. r)
πh

3

(R2 + r2)
π

3

(R2 + r2)
πh

3

https://dl.doubtnut.com/l/_eHa11NAwvQJw
https://dl.doubtnut.com/l/_gWRlSaijw1Vs
https://dl.doubtnut.com/l/_4YslGeK9QcUW


133. If the length of each diagonal of a cube is

doubled, then its volume become ……… times.

A. 7

B. 8

C. 9

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4YslGeK9QcUW
https://dl.doubtnut.com/l/_mjwuCp1Ux5kC


134. If a right angled triangle is revolved about

its hypotenuse then it will form a ………..

A. double cone

B. triple cone

C. only cone

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_mjwuCp1Ux5kC


135. A solid sphere of radius 10 cm is moulded

into 8 spherical solid balls of equal radius,

then radius of small spherical balls is ……….. cm.

A. 10

B. 9

C. 6

D. 5

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0PPlidrzWmX0


136. In a hollow cuboid box of size 

m, the number of solid iron spherical balls of

radius 0.5 m that can be packed …………

Watch Video Solution

4 × 3 × 2

137. If the external and internal radii of a

hollow hemispherical bowl are R and r, then its

total surface area is …….

A. 

B. 

πr2 + R2

πR2 + r2

https://dl.doubtnut.com/l/_4QF42WjVumyi
https://dl.doubtnut.com/l/_wxzESUv619AC


C. 

D. 

Answer: D

Watch Video Solution

πR2 + r

π(3R2 + r2)

138. Volume of cylinder is ……… cu. units.

A. 

B. 

C. 

πr2h

πr2

π/r

https://dl.doubtnut.com/l/_wxzESUv619AC
https://dl.doubtnut.com/l/_bRDIWUjY5s4K


D. none

Answer: A

Watch Video Solution

139. Volume of cone is …… cu. units.

A. 

B. 

C. 

D. 

πr2h
1

7

πr3h
1

2

πr2h

πr2h
1

3

https://dl.doubtnut.com/l/_bRDIWUjY5s4K
https://dl.doubtnut.com/l/_WMtAHzbELvJ2


Answer: D

Watch Video Solution

140. Volume ofsphere is ….. cu. units.

A. 

B. 

C. 

D. none

Answer: B

πr2h
4
3

πr34
3

πr31

3

https://dl.doubtnut.com/l/_WMtAHzbELvJ2
https://dl.doubtnut.com/l/_slWlwrvmesKO


Watch Video Solution

141. Volume of hemisphere is …… cu. units.

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

πr2h
1

7

πr2h
1

3

πr32

3

https://dl.doubtnut.com/l/_slWlwrvmesKO
https://dl.doubtnut.com/l/_EKr6RgMZgcZX


142. Volume of cuboid = ……… cu. units.

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

l2b

lbh2

lbh

https://dl.doubtnut.com/l/_EKr6RgMZgcZX
https://dl.doubtnut.com/l/_sm2l2tZPrzpv


143. Total surface area of cylinder is ……… sq.

units.

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

πr2 + πrl

πr2 + πr

πr2 + πl

https://dl.doubtnut.com/l/_SawdV4YwXZWK
https://dl.doubtnut.com/l/_y0UV67u5RX4W


144. Total surface area of hemisphere is ………..

sq. units.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

πrh + πr2

2πr + π

2πrh2

2πrh + 2πr2

https://dl.doubtnut.com/l/_y0UV67u5RX4W


145. Total surface area of hemisphere is ………..

sq. units.

A. 

B. 

C. 

D. none

Answer: D

Watch Video Solution

πr2

h

4πr2

8πr2h

https://dl.doubtnut.com/l/_Jl7j16LowzQW
https://dl.doubtnut.com/l/_MWeHGqcrJ1m8


146. Surface area of a sphere is ……….. sq. units.

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

πr2 /2

4πr2

8πr2

147. Total surface area of cube is ……….sq. units.

https://dl.doubtnut.com/l/_MWeHGqcrJ1m8
https://dl.doubtnut.com/l/_d6zUPrxfTWlW


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6l2

4l2

3l2

9l2

148. Volume of a cube is ….. cu. units.

A. 3a3

https://dl.doubtnut.com/l/_d6zUPrxfTWlW
https://dl.doubtnut.com/l/_j57awHQZOGfK


B. 

C. 

D. none

Answer: C

Watch Video Solution

a2h

a3

149. CSA of hemisphere is ……..sq. units.

A. 

B. 

2πr2

πr2

https://dl.doubtnut.com/l/_j57awHQZOGfK
https://dl.doubtnut.com/l/_0gsgMzB1ls6z


C. 

D. 

Answer: A

Watch Video Solution

3πr2

64πr2

150. CSA of cylinder is ….. sq. units.

A. 

B. 

C. 

2πrh

πrh

πr/h

https://dl.doubtnut.com/l/_0gsgMzB1ls6z
https://dl.doubtnut.com/l/_OOeIu0qDMM1M


D. none

Answer: A

Watch Video Solution

151. The volume of a cube is 343 . Find its

total surface area.

A. 9

B. 10

C. 16

cm3

https://dl.doubtnut.com/l/_OOeIu0qDMM1M
https://dl.doubtnut.com/l/_3idbBl4pGRKm


D. 7

Answer: D

Watch Video Solution

152. CSA of cone = …… sq. units.

A. 

B. 

C. 

D. 

π2r2l

πrl2

πr2

πrl

https://dl.doubtnut.com/l/_3idbBl4pGRKm
https://dl.doubtnut.com/l/_ukg5FfEfZdES


Answer: D

Watch Video Solution

153. In a cone, r=8 cm, h=11 cm then l= ……….. cm.

Watch Video Solution

154. Laddu is an example of ………

A. circle

B. cone

https://dl.doubtnut.com/l/_ukg5FfEfZdES
https://dl.doubtnut.com/l/_13JrrwOAWAWw
https://dl.doubtnut.com/l/_nNDwZCkbHH4x


C. sphere

D. none

Answer: C

Watch Video Solution

155. 

A. 22/7

B. 

C. 

π = …………….

2/7

22/3

https://dl.doubtnut.com/l/_nNDwZCkbHH4x
https://dl.doubtnut.com/l/_m9EHLHYOaOgS


D. none

Answer: A

Watch Video Solution

156. The volume of a hemisphere of radius 4.5

cm is ………… .

Watch Video Solution

cm3

157. In a cube, a = 8 cm then TSA = ……….. .cm2

https://dl.doubtnut.com/l/_m9EHLHYOaOgS
https://dl.doubtnut.com/l/_5Ua9ZW2HmhsC
https://dl.doubtnut.com/l/_afmRVvxSM3c9


Watch Video Solution

158. The volume of a right circular cone with

radius 6 cm and height 14 cm is ………. .

Watch Video Solution

cm3

159. In the above problem l = … 

A. 1

B. 2

cm.

https://dl.doubtnut.com/l/_afmRVvxSM3c9
https://dl.doubtnut.com/l/_oGWxOG3C7ahy
https://dl.doubtnut.com/l/_gjDqIQDEAU9I


C. 3

D. none

Answer: D

View Text Solution

160. A heap of rice is in the form of a cone of

diameter 12 m and height 8 m then volume is

………. .

Watch Video Solution

m3

https://dl.doubtnut.com/l/_gjDqIQDEAU9I
https://dl.doubtnut.com/l/_ULEHi9vimfMu


161. In a cylinder, r = 8 cm, h = 10 cm, CSA =

………….. .

Watch Video Solution

cm3

162. A sphere, a cylinder and a cone have the

same radius and same height then the ratio of

their curved surface areas is ……….

A. 

B. 

1: 3: 4

4: 4: 1

https://dl.doubtnut.com/l/_8gVGiCQzlyap
https://dl.doubtnut.com/l/_BHM1vlDJGkE3


C. 

D. 

Answer: D

Watch Video Solution

1: 5: √3

4: 4: √5

163. In a hemisphere, r = 1.75 cm then CSA =

………….. .

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_BHM1vlDJGkE3
https://dl.doubtnut.com/l/_D3t6Bqq3F3Sl


164. Volume of cone if r = 2 cm, h = 4 cm is

…………..

Watch Video Solution

165. Surface area of a sphere and cube are

equal. Then find the ratio of their volumes.

A. 

B. 

C. 

√π : 1

√π : √6

π : √6

https://dl.doubtnut.com/l/_7Q1dbRytqfLA
https://dl.doubtnut.com/l/_hQZ1TCpdtVra


D. none

Answer: B

Watch Video Solution

166. In a hemisphere, r=7 cm then CSA = 

Watch Video Solution

cm2.

167. In a cylinder, r = 7m, h = 15 m then V =

…………… .m3

https://dl.doubtnut.com/l/_hQZ1TCpdtVra
https://dl.doubtnut.com/l/_GyANcIYKuPq1
https://dl.doubtnut.com/l/_bFI5MKYdr9KS


Watch Video Solution

168. Diagonals of a cuboid is ……… units.

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

√l2 + b2 + h2

l√b2 + h2

b√h2 + r2

https://dl.doubtnut.com/l/_bFI5MKYdr9KS
https://dl.doubtnut.com/l/_0lBN6HTwY0Qw


169. Heap of stones is an example of

A. cylinder

B. cone

C. circle

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0lBN6HTwY0Qw
https://dl.doubtnut.com/l/_1tvWichGxYgh


170. Area of equilateral triangle of side 'a' units

is …….. sq. units.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

a21

√3

a24

√3

a
√3

4

a2√3

4

https://dl.doubtnut.com/l/_q3wGcuEIAnwd
https://dl.doubtnut.com/l/_lmUXArBcs6ar


171. Perimeter of square is 20 cm then A = ……….

A. 12

B. 16

C. 25

D. none

Answer: C

Watch Video Solution

cm2.

https://dl.doubtnut.com/l/_lmUXArBcs6ar


172. Diagonal of rectangle is ………. units.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√l2 + b2

√l + b

l + √b

√l + b

https://dl.doubtnut.com/l/_tnVp8XNHZ2Cb


173. Diagonal of a cube is ……. units.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3√a

√3a2

√3

a

a√3

https://dl.doubtnut.com/l/_4LwD1NHtDBoW


174.  = ………litre.

A. 1

B. 2

C. 4

D. 5

Answer: A

Watch Video Solution

103(cm)3

https://dl.doubtnut.com/l/_vuwmHlguIsNt


175. Volume of hollow cylinder is ….

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

πR − r

πr2 − R

πR2 − r

π(R2 − r2)

https://dl.doubtnut.com/l/_PqrR2hYHc6VL


176. ……… gave the symbol .

A. Euler

B. Pepe

C. Mount

D. None

Answer: A

Watch Video Solution

π

https://dl.doubtnut.com/l/_IcAW7ztx1Z8L


177. In a cone, (l+r)(l-r) = ………

A. 

B. 2h

C. h

D. none

Answer: A

Watch Video Solution

h2

https://dl.doubtnut.com/l/_x0eU8UhDkOa8


178. A cuboid has dimensions 

then its volume is ……..

A. 190

B. 780

C. 680

D. 480

Answer: D

Watch Video Solution

10 × 8 × 6cm

cm3.

https://dl.doubtnut.com/l/_YouTfRY0C2Xn
https://dl.doubtnut.com/l/_PvOasLMoeDOJ


179. CSA of a cone is 4070  and its

diameter is 70 cm then slant height is ………..

A. 27

B. 17

C. 37

D. 16

Answer: C

Watch Video Solution

cm2

cm.

https://dl.doubtnut.com/l/_PvOasLMoeDOJ
https://dl.doubtnut.com/l/_9iHMemfM5Jah


180. The sphere is of radius 2.1 cm then its

volume is ………. 

A. 38.08

B. 381.2

C. 83.01

D. none

Answer: A

Watch Video Solution

cm3.

https://dl.doubtnut.com/l/_9iHMemfM5Jah


181. In  then l =

……….

A. 20

B. 17

C. 16

D. 19

Answer: B

Watch Video Solution

l2 = h2 + r2, h = 15, r = 8

https://dl.doubtnut.com/l/_x4pznpGBjlN6
https://dl.doubtnut.com/l/_5NL5kl4UrWuo


182. The surface area of a sphere is 616 sq.cm.

then its radius is …… cm.

A. 16

B. 12

C. 9

D. 7

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_5NL5kl4UrWuo


183. Base circumference of a cylinder is 220 cm

and height is 63 cm then 

CSA= …………. .

A. 11810

B. 11680

C. 13860

D. 18360

Answer: C

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_EpkL7crQiddR


184. In a cone, d = 14 cm, l = 10 cm then 

CSA = …………. .

A. 220

B. 140

C. 160

D. none

Answer: A

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_AmkuxCqDCLXY
https://dl.doubtnut.com/l/_MKpbCqoWWENr


185. In a cube, a = 4 cm then 

TSA = ………….. 

A. 12

B. 70

C. 90

D. none

Answer: C

Watch Video Solution

cm2.

https://dl.doubtnut.com/l/_MKpbCqoWWENr


186. Number of edges of a cuboid is ……

A. 11

B. 16

C. 10

D. 12

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Eaf8miYJ3Cwn


187. If the diagonals of a rhombus are 10 cm

and 24 cm then area is ……. 

Watch Video Solution

cm2.

188. Volume of cone with d as diameter and h

as height is ……… 

A. 

B. 

C. 

units3.

πd2

6

πd2h

12

πdh2

12

https://dl.doubtnut.com/l/_BE5gKTReYy8X
https://dl.doubtnut.com/l/_9dyKDFEPD1cQ


D. none

Answer: B

Watch Video Solution

189. The area of the base of a right circular

cone is 78.5 . If its height is 12 cm then its

volume is ………. .

Watch Video Solution

cm2

cm3

https://dl.doubtnut.com/l/_9dyKDFEPD1cQ
https://dl.doubtnut.com/l/_9uvBO3UjKk2a


190. The volume of a cuboid is 3,60,000  If

its area is  then 


h = …………..cm.

A. 70

B. 64.2

C. 95.5

D. none

Answer: B

Watch Video Solution

cm3.

5, 600cm2

https://dl.doubtnut.com/l/_82eT9IlDhaxD


191. The volume of cone is 

then h = ……. cm.

Watch Video Solution

462cm3, r = 7cm

192. In a cylinder, h = 14 cm, V = 176 , r =

……………….. cm.

A. 1

B. 10

C. 6

cm3

https://dl.doubtnut.com/l/_1hTPA4gWRbec
https://dl.doubtnut.com/l/_z1alkM5MWZmK


D. 2

Answer: D

Watch Video Solution

193. The area of an equilateral triangle is

. Its perimeter is

A. 36

B. 63

C. 16

36√3cm2

https://dl.doubtnut.com/l/_z1alkM5MWZmK
https://dl.doubtnut.com/l/_8IGhKJSJHW0a


D. 10

Answer: A

Watch Video Solution

194. TSA of cylinder is , h = 20 cm then

its volume is ……… cm.

A. 1080

B. 3080

C. 1480

1188cm2

https://dl.doubtnut.com/l/_8IGhKJSJHW0a
https://dl.doubtnut.com/l/_H6EYbUuGXczx


D. 9023

Answer: B

Watch Video Solution

195. Surface area of a cube of side 27 cm is

………. .

A. 1474

B. 8174

C. 1374

cm2

https://dl.doubtnut.com/l/_H6EYbUuGXczx
https://dl.doubtnut.com/l/_y7voens4tuWr


D. 4374

Answer: D

Watch Video Solution

196. The perimeter of an equilateral triangle is

60 cm then its area is …………… 

A. 149.3

B. 170.1

C. 137.4

cm2.

https://dl.doubtnut.com/l/_y7voens4tuWr
https://dl.doubtnut.com/l/_VLAeRX52itl6


D. 173.2

Answer: D

Watch Video Solution

197. Volume of hemisphere is 19404  then

its TSA = ……….. .

A. 4118

B. 3158

C. 1459

cm3

cm2

https://dl.doubtnut.com/l/_VLAeRX52itl6
https://dl.doubtnut.com/l/_aVTwVecU9rWc


D. 4158

Answer: D

Watch Video Solution

198. If the diagonal of a cube is 2.5 m then

volume is …………. 

A. 3.01

B. 4.01

C. 8.1

m3.

https://dl.doubtnut.com/l/_aVTwVecU9rWc
https://dl.doubtnut.com/l/_YSksRhuXbbCS


D. none

Answer: D

Watch Video Solution

199.  then r = ………..

A. 13

B. 19

C. 10

D. 12

r3 = 1728

https://dl.doubtnut.com/l/_YSksRhuXbbCS
https://dl.doubtnut.com/l/_zZpTy1IjKcnx


Answer: D

Watch Video Solution

200. Football is an example of ……

A. circle

B. sphere

C. cone

D. none

Answer: B

https://dl.doubtnut.com/l/_zZpTy1IjKcnx
https://dl.doubtnut.com/l/_YhVtTRPsMHfQ


Watch Video Solution

201. Total number of faces of a cuboid
 is
 4
 (b)

6 (c)
8 (d) 12

A. 9

B. 10

C. 6

D. 8

Answer: D

https://dl.doubtnut.com/l/_YhVtTRPsMHfQ
https://dl.doubtnut.com/l/_RbOKACV4RQkn


Observation Material To Solve Various Questions

Given In The Public Examination

Watch Video Solution

1. Find the volume of a sphere of radius 21 cm.

(Take =22/7)

Watch Video Solution

π

2. Find the total surface area of a hemisphere,

whose radius is 7 cm.

https://dl.doubtnut.com/l/_RbOKACV4RQkn
https://dl.doubtnut.com/l/_6cV2EQgdDsPw
https://dl.doubtnut.com/l/_6RlzlTEnmnX4


Watch Video Solution

3. The radius of the base of a cone is 14 cm

and its height is 24 cm. Find the volume

Watch Video Solution

4. If a cyclinder and cone are of the same

radius and height, then how many cones full

of milk can fill the cylinder ? Answer with

reasons.

https://dl.doubtnut.com/l/_6RlzlTEnmnX4
https://dl.doubtnut.com/l/_09cPmKGtzDXk
https://dl.doubtnut.com/l/_v48g6qCHCukq


Watch Video Solution

5. If the radius of the hemisphere is 21 cm,

then find its volume.

Watch Video Solution

6. A conical solid block is exactly fitted inside

the cubical box of side 'a' then the volume of

conical solid block is . If this statement

true. Justify.

Watch Video Solution

πa34
3

https://dl.doubtnut.com/l/_v48g6qCHCukq
https://dl.doubtnut.com/l/_xLV8oPQ7hgId
https://dl.doubtnut.com/l/_hQCeJwI3zB9u


7. If the surface area of a hemisphere is ,'S'

then express 'r' interms of 'S'.

Watch Video Solution

8. Find the curved surface area of a cylinder of

radius 14 cm and height 21 cm. 

Watch Video Solution

(π = 22/7)

https://dl.doubtnut.com/l/_hQCeJwI3zB9u
https://dl.doubtnut.com/l/_lBiEyTxjmZOk
https://dl.doubtnut.com/l/_Bh2PvT7NEY1V
https://dl.doubtnut.com/l/_x3NvginFKdtj


9. Write the formula to find curved surface

area of a cone and explain each term in it.

Watch Video Solution

10. If a cone is inscribed in a cylinder, what is

the ratio of their volumes ?

Watch Video Solution

https://dl.doubtnut.com/l/_x3NvginFKdtj
https://dl.doubtnut.com/l/_CCG9WOV9dDx7


11. The vertex angle of a cone is . Find the

ratio of diameter with the height of the cone.

Watch Video Solution

60∘

12. "Cuboid is one of right prism". Is it true?

Justify.

Watch Video Solution

https://dl.doubtnut.com/l/_JdTsJ5fW6GVs
https://dl.doubtnut.com/l/_aP239Hko02Ks


13. Find the curved surface area of cylinder,

whose radius is 7cm. And height is 10 cm.

Watch Video Solution

14. Find the volume and total surface area of a

hemisphere whose radius is 35 cm?

Watch Video Solution

https://dl.doubtnut.com/l/_90RJ33wYwo9p
https://dl.doubtnut.com/l/_DMK64xwQR0AS


15. A solid iron has cylinderical shape. Its

height is 11 cm. and base diameter is 7 cm.

Then find the total volume of 50 rods ?

Watch Video Solution

16. Find the total surface area of a hemisphere,

whose radius is 14 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_vmdXBJU35yDI
https://dl.doubtnut.com/l/_DUcioLqqtq3w


17. The base area of a cone is 616 sq.cm and its

height is 48 cm. Find its total surface area.

Watch Video Solution

18. The radius of a spherical ballon increases

from 7 cm to 14 cm as air is pumped into it.

Find the ratio of volumes of balloon before

and after pumping the air.

Watch Video Solution

https://dl.doubtnut.com/l/_RqHlwSxCRTQo
https://dl.doubtnut.com/l/_docc0vs0EnOt
https://dl.doubtnut.com/l/_e5oMklXDqPBQ


19. Find the volume and surface area of a

sphere of radius 42 cm.

Watch Video Solution

20. A solid metallic ball of volume 64  is

melted and made into a solid cube. Find the

side of solid cube.

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_e5oMklXDqPBQ
https://dl.doubtnut.com/l/_gb9tLmQ8gcCM


21. A toy is in the form of a cone mounted on a

hemisphere. The radius of the base and the

height of the cone are 7 cm and 8 cm

respectively. Find the surface area of the toy.

Watch Video Solution

(π = 22/7)

22. The diameter of a solid sphere is 6 cm. It is

melted and recast into a solid cylinder of

height 4 cm. Find the radius of cylinder.

https://dl.doubtnut.com/l/_EGiqDv2PBhgW
https://dl.doubtnut.com/l/_uKnUaxQpeYKk


Watch Video Solution

23. The height and the base radius of a Cone

and a Cylinder are equal to the radius of a

Sphere. Find the ratio of the their volumes.

Watch Video Solution

24. The radius of a conical tent is 5m and its

height is 12m. Calculate the length of the

canvas used in making the tent if width of

canvas is 2m.

https://dl.doubtnut.com/l/_uKnUaxQpeYKk
https://dl.doubtnut.com/l/_iPvg71YXivlf
https://dl.doubtnut.com/l/_Sx3YDe07tJ18


Watch Video Solution

25. How many spherical balls can be made out

of a solid cube of lead whose edge measures

66 cm. and each ball being 3 cm in radius ?

Watch Video Solution

26. A medicine capsule is in the shape of a

cylinder with two hemispheres stock to each

of its ends. If the length of cylinder part is

https://dl.doubtnut.com/l/_Sx3YDe07tJ18
https://dl.doubtnut.com/l/_qcdZ2QeH2XIJ
https://dl.doubtnut.com/l/_gGjZFuPm4Zz6


14mm and the diameter of hemisphere is 6

mm. then find the volume of medicine capsule.

Watch Video Solution

27. The area of a sector-shaped canvas cloth is

264 . With this canvas cloth, If a right

circular conical tent is erected with the radius

of the base as 7 m, then find the height of the

tent. 

(use )

Watch Video Solution

m2

π = 22/7

https://dl.doubtnut.com/l/_gGjZFuPm4Zz6
https://dl.doubtnut.com/l/_pwIof9iJyh9s


28. DWARCA is supplied cuboidal shaped wax

block with measurements 88 cm  42 cm 

35 cm. From this how many number of

cylinderical candles of 2.8 cm diametre and 8

cm of height can be prepared ?

Watch Video Solution

× ×

29. How many spherical balls each 7 cm in

diameter can be made out of a solid lead cube

whose edge measures 66 cm ?

https://dl.doubtnut.com/l/_pwIof9iJyh9s
https://dl.doubtnut.com/l/_2avhbWYBNElt
https://dl.doubtnut.com/l/_YG8mljhxFDJB


Watch Video Solution

30. The length of cuboid is 12 cm, breadth and

height are equal in measurements and its

volume is .The cuboid is cut into 2

cubes. Find the lateral surface area of each

cube.

Watch Video Solution

432cm3

https://dl.doubtnut.com/l/_YG8mljhxFDJB
https://dl.doubtnut.com/l/_3boDrtnVpPAl


31. How many silver coins of diameter 5 cm and

thickness 4 mm have to be melted to prepare

a cuboid of 12 cm  11 cm  5 cm

dimension ?

Watch Video Solution

× ×

32. An oil drum is in the shape of cylinder ,

whose diameter is 2m and height is 7m. The

painter charges Rs 5 per  to paint them2

https://dl.doubtnut.com/l/_lyyGf7y0JajD
https://dl.doubtnut.com/l/_qYXbLNJikWsD


Observation Bits To Solve Various Bits Given In

The Public Examination

drum. Find the total charges to be paid to the

painter for 10 drums.

Watch Video Solution

1. The total surface area of a cube is 54 

then its side is ……… cm.

A. 6

B. 9

cm2

https://dl.doubtnut.com/l/_qYXbLNJikWsD
https://dl.doubtnut.com/l/_5DNeyusV8B0r


C. 12

D. 3

Answer: D

Watch Video Solution

2. Base area of a regular cylinder is 154 

then its radius is ……….

A. 49 cm

B. 7 cm

cm2

https://dl.doubtnut.com/l/_5DNeyusV8B0r
https://dl.doubtnut.com/l/_mg6KJDGU06p0


C. 22 cm

D. 14 cm

Answer: B

Watch Video Solution

3. If the height and radius of a cone are 1.5 and

8 cm then its slant height = ……….. cm.

A. 2.5

B. 7.5

https://dl.doubtnut.com/l/_mg6KJDGU06p0
https://dl.doubtnut.com/l/_alcXii6YHwbm


C. 5

D. 10

Answer: A

Watch Video Solution

4. Curved surface area of a hemisphere =

……………

A. 

B. 

πr2

πr21

3

https://dl.doubtnut.com/l/_alcXii6YHwbm
https://dl.doubtnut.com/l/_QVTBFwll17lR


C. 

D. 

Answer: D

Watch Video Solution

3πr2

2πr2

5. Volume of a cube 8  then side is ………….

A. 1 

B. 2 

C. 1 

cm3

cm

cm

cm2

https://dl.doubtnut.com/l/_QVTBFwll17lR
https://dl.doubtnut.com/l/_ekjcwvmuYl3z


D. 2 

Answer: B

Watch Video Solution

cm2

6. Ratio of volumes of two spheres is 8:27 then

ratio of their curved surface areas is ……

A. 

B. 

C. 

2: 3

4: 27

8: 9

https://dl.doubtnut.com/l/_ekjcwvmuYl3z
https://dl.doubtnut.com/l/_vOEwjhecXiJY


D. 

Answer: C

Watch Video Solution

4: 9

7. Football is an example of ……

A. circle

B. cylinder

C. sphere

D. cone

https://dl.doubtnut.com/l/_vOEwjhecXiJY
https://dl.doubtnut.com/l/_hqNIZlIxLgHE


Answer: C

Watch Video Solution

8. The volume of a cube is 216  then edge

is ……….. cm.

A. 6

B. 4

C. 8

D. 16

cm3

https://dl.doubtnut.com/l/_hqNIZlIxLgHE
https://dl.doubtnut.com/l/_6Sy8LFuH2uOG


Answer: A

Watch Video Solution

9. the curved surface area of a right circular

cylinder is …….. sq. units.

A. 

B. 

C. 

D. 

πr2h

2πr(h + r)

2πrh

πrl

https://dl.doubtnut.com/l/_6Sy8LFuH2uOG
https://dl.doubtnut.com/l/_QHPkMxJqmP0Y


Answer: C

Watch Video Solution

10. The curved surface area of a sphere will be

……., whose radius is 10 cm.

A. 

B. 

C. 

D. 

200π

100π

221π

129π

https://dl.doubtnut.com/l/_QHPkMxJqmP0Y
https://dl.doubtnut.com/l/_M5OWBnafhbKC


Answer: B

Watch Video Solution

11. The volume of a cube will be ……….

 whose total surface area is 216 

.

Watch Video Solution

(in cm3),

cm2

12. A famous book written by ancient

mathematician Aryabhatta is ……..

https://dl.doubtnut.com/l/_M5OWBnafhbKC
https://dl.doubtnut.com/l/_5DEmDSbdIAyL
https://dl.doubtnut.com/l/_uCEOH4t9DO51


A. Arya Tharkram

B. Aryabhatteeyam

C. Siddhantha Siromani

D. Karana Kuthuhalam

Answer: B

Watch Video Solution

13. The volume of right circular cylinder with

radius 6 cm and height 7 cm is ……… .cm3

https://dl.doubtnut.com/l/_uCEOH4t9DO51
https://dl.doubtnut.com/l/_susdbppasaUj


Watch Video Solution

14. A sphere of radius 'r' inscribed in a cylinder.

The surface area of the sphere ……. of the

cylinder.

A. total surface area

B. curved surface area

C. volume

D. none of these

Answer: B

https://dl.doubtnut.com/l/_susdbppasaUj
https://dl.doubtnut.com/l/_XzLKeWrecg2W


Watch Video Solution

15. The maximum length of the stick that can

be placed in a cuboid, whose measurements

are , is ………..

A. 8

B. 5

C. 12

D. 13

Answer: B

8 × 4 × 1

https://dl.doubtnut.com/l/_XzLKeWrecg2W
https://dl.doubtnut.com/l/_Gk6cbOYGyQAS


Watch Video Solution

16. A cylinder and cone have bases of equal

radii and are of equal heights, then their

volumes are in the ratio ……….

A. 

B. 

C. 

D. 

Answer: C

1: 1

1: 3

3: 1

1: 9

https://dl.doubtnut.com/l/_Gk6cbOYGyQAS
https://dl.doubtnut.com/l/_gGFxfZfAbz7W


Watch Video Solution

17. Total surface area of a solid hemisphere of

radius 7 cm. is …… .

A. 

B. 

C. 

D. 

Answer: C

cm2

21π

49π

147π

98π

https://dl.doubtnut.com/l/_gGFxfZfAbz7W
https://dl.doubtnut.com/l/_HcSvVJDdkn9B


Watch Video Solution

18. Radius of a cone is 'r', height is 'h' and its

slant height is ' ' then which of the following is

false ?

A. always 

B. always 

C. always 

D. 

Answer: A,B,D

l

l > h

l > r

r > l

l2 = r2 + h2

https://dl.doubtnut.com/l/_HcSvVJDdkn9B
https://dl.doubtnut.com/l/_KGY8lpSGV8QH


Watch Video Solution

19. Radius, height, slant height of a cone are r,

h, l, then 'l' value in terms of r and h is ….

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√h2 − r2

√r2 + h2

√r2 − h2

√4r2 + h2

https://dl.doubtnut.com/l/_KGY8lpSGV8QH
https://dl.doubtnut.com/l/_NDcQaoDS2dRd


20. Volumes of two spheres are in the ratio of

27:64, the ratio of their curved surface areas is

….

Watch Video Solution

21. A solid ball is exactly fitted inside the

cubical box of side 'a'. The volume of the ball is

…

A. πa31

3

https://dl.doubtnut.com/l/_NDcQaoDS2dRd
https://dl.doubtnut.com/l/_nLxB1sUG4G5d
https://dl.doubtnut.com/l/_RBI7xz8C1pMS


B. 

C. 

D. 

Answer: B

Watch Video Solution

πa31

6

πa34
3

πa38

3

22. If the total surface area of cube is 102 ,

then side of cube is …………

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_RBI7xz8C1pMS
https://dl.doubtnut.com/l/_qUadPcmvRVFs


23. Base area of the prism is 30  and its

height is 10 cm. Then the volume of the prism

is ……..

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cm2

300cm3

300cm2

150cm2

150cm3

https://dl.doubtnut.com/l/_ovvjaRwBisxs


24. The volume of a cone with base radius 7 cm

is 462 c.c., its height is

A. 9 cm

B. 18 cm

C. 3 cm

D. 27 cm

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_yQFCKDsQ4LAd
https://dl.doubtnut.com/l/_cIKcNwbFpcaQ


25. If total surface area of a cube is 96 ,

then its volume is ………

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cm2

32cm3

64cm3

128cm3

256cm3

https://dl.doubtnut.com/l/_cIKcNwbFpcaQ


26. The volume of cone, whose radius is 3 cm

and height is 8 cm, is ….. .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cm3

6π

12π

18π

24π

https://dl.doubtnut.com/l/_CfcMX42KsZHU


Exercise

1. Consider the following situations. In each

find out whether you need volume or area and

why ? 

i) Quantity of water inside a bottle. 

ii) Canvas needed for making a tent. 

iii) Gas filled in a cylinder.

Watch Video Solution

https://dl.doubtnut.com/l/_EEZgdssFxFqy


2. Consider the following situations. In each

find out whether you need volume or area and

why ? 

i) Quantity of water inside a bottle. 

ii) Canvas needed for making a tent. 

iii) Gas filled in a cylinder.

Watch Video Solution

3. Consider the following situations. In each

find out whether you need volume or area and

https://dl.doubtnut.com/l/_FDCOCMpfmbcp
https://dl.doubtnut.com/l/_OE6FgTrjSh7C


why ? 

i) Quantity of water inside a bottle. 

ii) Canvas needed for making a tent. 

iii) Gas filled in a cylinder.

Watch Video Solution

4. Consider the following situations. In each

find out whether you need volume or area and

why ? 

i) Quantity of water inside a bottle. 

https://dl.doubtnut.com/l/_OE6FgTrjSh7C
https://dl.doubtnut.com/l/_1TN08TC7p0Ir


ii) Canvas needed for making a tent. 

iii) Gas filled in a cylinder.

Watch Video Solution

5. Consider the following situations. In each

situation, find out whether you need to find

volume or surface area and why?: Number of

match sticks that can be put in the matchbox.

Watch Video Solution

https://dl.doubtnut.com/l/_1TN08TC7p0Ir
https://dl.doubtnut.com/l/_U0h8JKC3nXDt


6. Consider the following situations. In each

situation, find out whether you need to find

volume or surface area and why?: Paper for

gift pack.

Watch Video Solution

7. State 5 more such examples and ask your

friends to choose volume or area. what they

need?

Watch Video Solution

https://dl.doubtnut.com/l/_bTP7Jg9N5X91
https://dl.doubtnut.com/l/_1eb4X9T8on1e


8. Break the pictures in the previous figure

into solids of known shapes.

Watch Video Solution

9. Think of 5 more objects around you that can

be seen as a combination of shapes. Name the

shapes that combined to make them.

Watch Video Solution

https://dl.doubtnut.com/l/_1eb4X9T8on1e
https://dl.doubtnut.com/l/_l3uIXm5whCR3
https://dl.doubtnut.com/l/_YNTC5kEMo0bg
https://dl.doubtnut.com/l/_152fscu3a9nY


10. The radius of a conical tent is 7 metres and

its height is 10 metres. Calculate the length of

canvas used in making the tent if width of

canvas is 2m. 

Watch Video Solution

[  Use π = ]
22

7

11. An oil drum is in the shape of a cyinder

having the following dimensions : diameter is

2 m. and height is 7m. The painter charges Rs.

3 per  to paint the drum. Find the totalm2

https://dl.doubtnut.com/l/_152fscu3a9nY
https://dl.doubtnut.com/l/_iawQYD0jIb46


charges to be paid to the painter for 20

drums.

Watch Video Solution

12. A sphere, a cylinder and a cone have the

same radius and same height then the ratio of

their curved surface areas is ……….

Watch Video Solution

https://dl.doubtnut.com/l/_iawQYD0jIb46
https://dl.doubtnut.com/l/_RrazsaMbbVu2


13. A company wanted to manufacture 1000

hemispherical basins from a thin steel sheet. If

the radius of each basin is 21 cm., find the

required area of steel sheet required to

manufacture the above hemispherical basins ?

Watch Video Solution

14. A right circular cylinder has base radius 14

cm and height 21 cm. Find its : 

i) Area of base or area of each end 

https://dl.doubtnut.com/l/_GAUFy43M5bsV
https://dl.doubtnut.com/l/_4L64btMQ2WKz


ii) Curved surface area 

iii) Total surface area and 

iv) Volume of the right circular cylinder.

Watch Video Solution

15. A right circular cylinder has base radius 14

cm and height 21 cm. Find its : 

i) Area of base or area of each end 

ii) Curved surface area 

iii) Total surface area and 

iv) Volume of the right circular cylinder.

https://dl.doubtnut.com/l/_4L64btMQ2WKz
https://dl.doubtnut.com/l/_5qLQFkJctKGP


Watch Video Solution

16. A right circular cylinder has base radius 14

cm and height 21 cm. Find its : 

i) Area of base or area of each end 

ii) Curved surface area 

iii) Total surface area and 

iv) Volume of the right circular cylinder.

Watch Video Solution

https://dl.doubtnut.com/l/_5qLQFkJctKGP
https://dl.doubtnut.com/l/_526RERGik5gA


17. A right circular cylinder has base radius 14

cm and height 21 cm. Find its : 

i) Area of base or area of each end 

ii) Curved surface area 

iii) Total surface area and 

iv) Volume of the right circular cylinder.

Watch Video Solution

18. Find the volume and surface area of a

sphere of radius 2.1 cm. (π = )
22

7

https://dl.doubtnut.com/l/_vxbUsx2NQ71L
https://dl.doubtnut.com/l/_LjyOgnxbYcb1


Watch Video Solution

19. Find the volume and the total surface area

of a hemisphere of radius 3.5 cm. 

Watch Video Solution

(π = )
22

7

20. A joker's cap is in the form of right circular

cone whose base radius is 7 cm and height is

24 cm. Find the area of the sheet required to

make 10 such caps.

Watch Video Solution

https://dl.doubtnut.com/l/_LjyOgnxbYcb1
https://dl.doubtnut.com/l/_sXyhle52BD4n
https://dl.doubtnut.com/l/_CYKrW2cMP8p9


21. A sports company was ordered to prepare

100 paper cylinders without caps for shuttle

cocks. The required dimensions of the cylinder

are 35 cm length / height and its radius is 7

cm. Find the required area of the thin paper

sheet needed to make 100 cylinders.

Watch Video Solution

https://dl.doubtnut.com/l/_CYKrW2cMP8p9
https://dl.doubtnut.com/l/_g8VqZd6ys35Y


22. Find the volume of right circular cone with

radius 6 cm. and height 7 cm.

Watch Video Solution

23. The lateral surface area of a cylinder is

equal to the curved surface area of a cone. If

their base be the same, find the ratio of the

height of the cylinder to slant height of the

cone.

Watch Video Solution

https://dl.doubtnut.com/l/_flMX555Kz3YN
https://dl.doubtnut.com/l/_fb9UoxrLVZgC


24. A self help group wants to manufacture

joker's caps (conical caps) of 3 cm radius and 4

cm height. If the available colour paper sheet

is 1000 , then how many caps can be

manufactured from that paper sheet ?

Watch Video Solution

cm2

25. A cylinder and cone have bases of equal

radii and are of equal heights, then their

volumes are in the ratio ……….

https://dl.doubtnut.com/l/_fb9UoxrLVZgC
https://dl.doubtnut.com/l/_VXhxb6cVdMUB
https://dl.doubtnut.com/l/_M6y7VTf0bmwT


Watch Video Solution

26. A solid iron has cylinderical shape. Its

height is 11 cm. and base diameter is 7 cm.

Then find the total volume of 50 rods ?

Watch Video Solution

27. A heap of rice is in the form of a cone of

diameter 12 m. and height 8 m. Find its volume

? How much canvas cloth is required to cover

https://dl.doubtnut.com/l/_M6y7VTf0bmwT
https://dl.doubtnut.com/l/_Lph94GNKhWeY
https://dl.doubtnut.com/l/_9HuAyp8Z4XNV


the heap ? 

(Use )

Watch Video Solution

π = 3.14

28. The curved surface area of a cone is 4070

 and its diameter is 70 cm . What is its

slant height ?

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_9HuAyp8Z4XNV
https://dl.doubtnut.com/l/_oa9BZSjvFCJo


29. Saniya prepared a toy. She mounted a cone

on a cylinder whose circular radii are same.

She told to Archana that the total surface area

of the toy is the sum of the total surface area

of the cone and cylinder. Do you agree with

this? Justify your answer.

Watch Video Solution

30. A sphere is inscribed in a cylinder. Is the

surface of the sphere equal to the curved

https://dl.doubtnut.com/l/_sszfHhnCVe4u
https://dl.doubtnut.com/l/_xNNlfHrawpRh


surface fo the cylinder ? If yes, explain how.

Watch Video Solution

31. What is the ratio of total surface areas of

cylinder and sphere ?

Watch Video Solution

32. What is the ratio of volumes of cylinder

and sphere ?

Watch Video Solution

https://dl.doubtnut.com/l/_xNNlfHrawpRh
https://dl.doubtnut.com/l/_SxGUEu0I8d5g
https://dl.doubtnut.com/l/_XpEfBDkKW5QP


33. What have you observed about the main

groups?

Watch Video Solution

34. Use known solid shapes and make as many

objects (by combining more than two) as

possible that you come across in your daily

life. 

https://dl.doubtnut.com/l/_XpEfBDkKW5QP
https://dl.doubtnut.com/l/_1v955xGCciDT
https://dl.doubtnut.com/l/_jK1BiVRmwFeJ


[Hint : Use clay, or balls, pipes, paper cones,

boxes likes cube, cuboid etc]

Watch Video Solution

35. Koushik got a playing top as his birthday

present, which surprisingly had no colour on

it. He wanted to colour it with his crayons. The

top is shaped like a cone surmounted by a

hemisphere. The entire top is 5 cm. in height

and the diameter of the top is 3.5 cm. Find the

area he has to colour. (Take )π =
22

7

https://dl.doubtnut.com/l/_jK1BiVRmwFeJ
https://dl.doubtnut.com/l/_bX8m8ehCPF0i


Watch Video Solution

36. A wooden toy rocket is in the shape of a

cone mounted on a cylinder as shown in the

adjacent figure. The height of the entire rocket

is 26 cm, while the height of the conical part is

6 cm. The base of the conical position has a

diameter of 5 cm, while the base diameter of

the cylindrical portion is 3 cm. If the conical

portion is to be painted orange and the

cylindrical portion is to be painted yellow, find

the area of the rocket painted with each of

https://dl.doubtnut.com/l/_bX8m8ehCPF0i
https://dl.doubtnut.com/l/_j2PCdcDcU9EC


these colour.

(Take pi = 3.14)

Watch Video Solution

37. A toy is in the form of a cone mounted on a

hemisphere. The diameter of the base and the

height of the cone are 6 cm and 4 cm

respectively. Determine the surface area of the

toy. 

[Use ]

Watch Video Solution

π = 3.14

https://dl.doubtnut.com/l/_j2PCdcDcU9EC
https://dl.doubtnut.com/l/_IKHwchtlu6WZ


38. A solid is in the form of a right circular

cylinder with a hemisphere at one end and a

cone at the other end. The radius of the

common base is 8 cm and the heights of the

cylinderical and conical portions are 10 cm and

6 cm respectively. Find the total surface area

of the solid.  [Use ]

Watch Video Solution

            π = 3.14

https://dl.doubtnut.com/l/_IKHwchtlu6WZ
https://dl.doubtnut.com/l/_Ugnao7D5OMsh


39. A medicine capsule is in the shape of a

cylinder with two hemispheres stuck to each

of its ends. The length of the capsule is 14 mm.

and the width is 5 mm. Find its surface area.

Watch Video Solution

40. Two cubes each of volume 64  are

joined end to end together. Find the surface

area of the resulting cuboid.

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_fKVtQpFKcE5A
https://dl.doubtnut.com/l/_aaw966MuwdVz


41. A storage tank consists of a circular

cylinder with a hemisphere stuck on either

end. If the external diameter of the cylinder be

1.4 m. and its length be 8 m. Find the cost of

painting it on the outside at rate of Rs. 20 per

.

Watch Video Solution

m2

42. A sphere, a cylinder and a cone have the

same radius and same height. Find the ratio of

https://dl.doubtnut.com/l/_aaw966MuwdVz
https://dl.doubtnut.com/l/_JIXHwUnLds4Z
https://dl.doubtnut.com/l/_1ucUp54iYHYN


their volumes. 

[Hint : Diameter of the sphere is equal to the

heights of the cylinder and the cone.]

Watch Video Solution

43. A hemisphere is cut out from one face of a

cubical wooden block such that the diameter

of the hemisphere is equal to the edge of the

cube. Determine the surface area of the

remaining solid.

Watch Video Solution

https://dl.doubtnut.com/l/_1ucUp54iYHYN
https://dl.doubtnut.com/l/_KHUuuBcWuRJt


44. A wooden article was made by scooping

out a hemisphere from each end of a solid

cylinder, as shown in the figure. If the height of

the cylinder is 10 cm and its base radius is 3.5

cm, find the total surface area of the article.

Watch Video Solution

45. If the diameter of the cross - section of a

wire is decreased by 5%, by what percentage

https://dl.doubtnut.com/l/_KHUuuBcWuRJt
https://dl.doubtnut.com/l/_Exc2HygltHrG
https://dl.doubtnut.com/l/_G6FrDh1SnakP


should the length be increased so that the

volume remains the same ?

Watch Video Solution

46. Surface area of a sphere and cube are

equal. Then find the ratio of their volumes.

Watch Video Solution

47. A solid toy is in the form of a right circular

cylinder with hemispherical shape at one end

https://dl.doubtnut.com/l/_G6FrDh1SnakP
https://dl.doubtnut.com/l/_8nKrLJ8AU7oS
https://dl.doubtnut.com/l/_leH8JDXDedy1


and a cone at the other end. Their common

diameter is 4.2 cm and the height of the

cylinderical and conical portions are 12 cm and

7 cm respectively. Find the volume of the solid

toy. 

Watch Video Solution

[Use π = ]
22

7

48. A cylinderical container is filled with ice-

cream whose diameter is 12 cm and height is

15 cm. The whole ice-cream is distributed to 10

https://dl.doubtnut.com/l/_leH8JDXDedy1
https://dl.doubtnut.com/l/_BcaaihNxhEo2


children in equal cones having hemispherical

tops. If the height of the conical portion is

twice the diameter of its base, find the

diameter of the ice-cream cone.

Watch Video Solution

49. A solid consisting of a right circular cone

standing on a hemisphere, is placed up-right

in a right circular cylinder full of water and

touches the bottom. Find the water and

touches the bottom. Find the volume of water

https://dl.doubtnut.com/l/_BcaaihNxhEo2
https://dl.doubtnut.com/l/_uZgS05ZkrfiF


left in the cylinder, given that the radius of the

cylinder is 3 cm. and its height is 6 cm. The

radius of the hemisphere is 2 cm. and the

height of the cone is 4 cm. 

Watch Video Solution

[Take π = ]
22

7

50. A cylinderical pencil is sharpened to

produce a perfect cone at one end with no

over all loss of its length. The diameter of the

pencil is 1 cm and the length of the conical

portion is 2 cm. Calculate the volume of the

https://dl.doubtnut.com/l/_uZgS05ZkrfiF
https://dl.doubtnut.com/l/_R9EurzVfqf2g


shavings. Give your answer correct to two

places if it is in decimal. 

Watch Video Solution

[Use π = ]
355

113

51. An iron pillar consists of a cylindrical

portion of 2.8 m. height and 20 cm. in

diameter and a cone of 42 cm. height

surmounting it. Find the weight of the pillar if

1  of iron weighs 7.5 g.

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_R9EurzVfqf2g
https://dl.doubtnut.com/l/_LUWMpm5PI3Nn
https://dl.doubtnut.com/l/_YpzfsuE0ss5r


52. A toy is made in the form of hemisphere

surmounted by a right cone whose circular

base is joined with the plane surface of the

hemisphere. The radius of the base of the

cone is 7 cm. and its volume is 3/2 of the

hemisphere. Calculate the height of the cone

and the surface area of the toy correct to 2

places of decimal. 

Watch Video Solution

(Take π = 3 )
1

7

https://dl.doubtnut.com/l/_YpzfsuE0ss5r
https://dl.doubtnut.com/l/_gSmmdxHOLw62


53. Find the volume of the largest right

circular cone that can be cut out a cube whose

edge is 7 cm.

Watch Video Solution

54. A cylindrical tub of radius 5 cm and length

9.8 cm is full of water. A solid in the form of

right circular cone mounted on a hemisphere

is immersed into the tub. The radius of the

hemisphere is 3.5 cm and height of cone

outside the hemisphere is 5 cm. Find the

https://dl.doubtnut.com/l/_gSmmdxHOLw62
https://dl.doubtnut.com/l/_kjUZaBi3gEue


volume of water left in the tub. 

Watch Video Solution

                   (Take π = )
22

7

55. In the adjacent figure, the height of a solid

cylinder is 10 cm and diameter is 7 cm. Two

equal conical holes of radius 3 cm and height

4 cm are cut off as shown in the figure. Find

the volume of the remaining solid.

Watch Video Solution

https://dl.doubtnut.com/l/_kjUZaBi3gEue
https://dl.doubtnut.com/l/_PjBHGYdGqqWg
https://dl.doubtnut.com/l/_YyOjhVdWTNgF


56. In the adjacent figure, the height of a solid

cylinder is 10 cm and diameter is 7 cm. Two

equal conical holes of radius 3 cm and height

4 cm are cut off as shown in the figure. Find

the volume of the remaining solid.

Watch Video Solution

57. Spherical marbles of diameter 1.4 cm. are

dropped into a cylindrical beaker of diameter 7

cm., which contains some water. Find the

number of marbles that should be dropped

https://dl.doubtnut.com/l/_YyOjhVdWTNgF
https://dl.doubtnut.com/l/_2pODVkT44QIz


into the beaker, so that water level rises by 5.6

cm.

Watch Video Solution

58. A pen stand is made of wood in the shape

of cuboid with three conical depressions to

hold the pens. The dimensions of the cuboid

are 15 cm by 10 cm by 3.5 cm. The radius of

each of the depression is 0.5 cm and the depth

is 1.4 cm. Find the volume of wood in the

entire stand.

https://dl.doubtnut.com/l/_2pODVkT44QIz
https://dl.doubtnut.com/l/_hfmIeOLYRiqy


Watch Video Solution

59. Which barrel shown in the below figure can

hold more water? Discuss with your friends.

Watch Video Solution

60. A copper rod of diameter 1 cm. and length

8 cm. is drawn into a wire of length 18 m of

uniform thickness. Find the thickness of the

wire.

Watch Video Solution

https://dl.doubtnut.com/l/_hfmIeOLYRiqy
https://dl.doubtnut.com/l/_gAvvDhpGHV8s
https://dl.doubtnut.com/l/_WQFvECgBz7gv


61. Parvali house has a water tank in the shape

of a cylinder on the roof. This is filled by

pumping water from a sump (an underground

tank) which is in the shape of a cuboid. The

sump has dimensions 1.57 m  1.44 m  9.5

cm. The water tank has radius 60 cm. and

height 95 cm. Find the height of the water left

in the sump after the water tank has been

completely filled with water from the sump

which had been full of water. Compare the

× ×

https://dl.doubtnut.com/l/_WQFvECgBz7gv
https://dl.doubtnut.com/l/_y5JSfMChChi0


capacity of the tank with that of the sump. (

=3.14)

Watch Video Solution

π

62. A cone of height 24 cm and radius of base

6 cm is made up of modelling clay. A child

reshapes it in the form of a sphere. Find the

radius of the sphere.

Watch Video Solution

https://dl.doubtnut.com/l/_y5JSfMChChi0
https://dl.doubtnut.com/l/_9GQuXXlaa1HU


63. The diameter of the internal and external

surfaces of a hollow hemisperical shell are 6

cm. and 10 cm. respectively. It is melted and

recast into a solid cylinder of diameter 14 cm.

Find the height of the cylinder.

Watch Video Solution

64. A hemispherical bowl of internal radius is

15 cm. contains a liquid. The liquid is to be

filled into cylinderical bottles of diameter 5 cm.

https://dl.doubtnut.com/l/_onZFlYI2x7sY
https://dl.doubtnut.com/l/_eTjDTqUgDi7x


and height 6 cm. How many bottles are

necessary to empty the bowl ?

Watch Video Solution

65. The diameter of a metallic sphere is 6 cm. It

is melted and drawn into a long wire having a

circular cross section of diameter as 2 cm. Find

the length of the wire.

Watch Video Solution

https://dl.doubtnut.com/l/_eTjDTqUgDi7x
https://dl.doubtnut.com/l/_mRkrNqxrUOv0


66. How many spherical balls can be made out

of a solid cube of lead whose edge measures

44 cm and each ball being 4 cm. in diameter ?

Watch Video Solution

67. A women self help group (DWARCA) is

supplied a rectangular solid (cuboid shape) of

wax with diameters 66 cm., 42 cm., 21., to

prepare cylindrical candles each 4.2 cm. in

https://dl.doubtnut.com/l/_zihkj5Mq3ChG
https://dl.doubtnut.com/l/_xA5g2BxDjThG


diameter and 2.8 cm. of height. Find the

number of candles.

Watch Video Solution

68. A metallic sphere of radius 4.2 cm. is

melted and recast into the shape of a cylinder

of radius 6 cm. Find the height of the cylinder.

Watch Video Solution

https://dl.doubtnut.com/l/_xA5g2BxDjThG
https://dl.doubtnut.com/l/_osMrdZ2y2buZ


69. Three metallic spheres of radii 6 cm., 8 cm.

and 10 cm. respectively are melted together to

form a single solid sphere. Find the radius of

the resulting sphere.

Watch Video Solution

70. A 20 m deep well with diameter 7 m. is dug

and the earth got by digging is evenly spread

out to form a rectangular platform of base

22m.  14m. Find the height of the platform.×

https://dl.doubtnut.com/l/_0QxgvUwTz3w3
https://dl.doubtnut.com/l/_Jg087iS02img


Watch Video Solution

71. A well of diameter 14m. is dug 15m. deep.

The earth taken out of it has been spread

evenly all around it in the shape of a circular

ring of width 7 m to form an embankment.

Find the height of the embankment.

Watch Video Solution

72. A container shaped like a right circular

cylinder having diameter 12 cm. and height 15

https://dl.doubtnut.com/l/_Jg087iS02img
https://dl.doubtnut.com/l/_jLB6xHNfEmMH
https://dl.doubtnut.com/l/_H8XTW0hRfZUK


cm. is full of ice-cream. The ice-cream is to be

filled into cones of height 12 cm. and diameter

6 cm., having a hemispherical shape on the

top. Find the number of such cones which can

be filled with ice-cream.

Watch Video Solution

73. How many silver coins, 1.75 cm in diameter

and thickness 2mm., need to be melted to

form a cuboid of dimensions 5.5 cm  10 cm 

 3.5 cm ?

×

×

https://dl.doubtnut.com/l/_H8XTW0hRfZUK
https://dl.doubtnut.com/l/_UGVA89WtMQTF


Watch Video Solution

74. A vessel is in the form of an inverted cone.

Its height is 8 cm. and the radius of its top is 5

cm.It is filled with water up to the rim. When

lead shots, each of which is a sphere of radius

0.5 cm are dropped into the vessel, 1/4 of the

water flows out. Find the number of lead shots

dropped into the vessel.

Watch Video Solution

https://dl.doubtnut.com/l/_UGVA89WtMQTF
https://dl.doubtnut.com/l/_F9Dp5INuNZo5


75. A solid metallic sphere of diameter 28 cm is

melted and recast into a number of smaller

cones, each of diameter  and height 3 cm.

Find the number of cones so formed.

Watch Video Solution

4
2

3

76. A golf ball has diameter equal to 4.1 cm. Its

surface has 150 dimples each of radius 2mm.

Calculate total surface which is exposed to the

https://dl.doubtnut.com/l/_exAbD3xd7lRx
https://dl.doubtnut.com/l/_vsydfc5wfcdD


surroundings. (Assume that the dimples are all

hemispherical) 

Watch Video Solution

          [π = 22/7]

77. A cyclinder of radius 12 cm. contains water

to a depth of 20 cm. A spherical iron ball is

dropped into the cylinder and thus the level of

water is raised by 6.75 cm. Find the radius of

the ball. 

Watch Video Solution

[π = ]
22

7

https://dl.doubtnut.com/l/_vsydfc5wfcdD
https://dl.doubtnut.com/l/_hO3rSELdcpMl


78. A solid toy is in the form of a right circular

cylinder with a hemispherical shape at one

end and a cone at the other end. Their

common diameter is 4.2 cm. and height of the

cyclindrical and conical portion are 12 cm. and

7 cm. respectively. Find the volume of the solid

toy. 

Watch Video Solution

         [π = 22/7]

https://dl.doubtnut.com/l/_hO3rSELdcpMl
https://dl.doubtnut.com/l/_VGSiW9Om0qUO


79. Three metal cubes with edges 15 cm., 12 cm.

and 9 cm. respectively are melted together

and formed into a simple cube. Find the

diagonal of this cube.

Watch Video Solution

80. A hemispherical bowl of internal diameter

36 cm. contains a liquid. This liquid is to be

filled in cyclindrical bottles of radius 3 cm. and

https://dl.doubtnut.com/l/_Y3e8xIcmzO9A
https://dl.doubtnut.com/l/_HQpAXsfBo8Z5


height 6 cm. How many bottles are required to

empty the bowl ?

Watch Video Solution

81. If a cyclinder and cone are of the same

radius and height, then how many cones full

of milk can fill the cylinder ? Answer with

reasons.

Watch Video Solution

https://dl.doubtnut.com/l/_HQpAXsfBo8Z5
https://dl.doubtnut.com/l/_FT4OT4ljq9gz


82. If the radius of the hemisphere is 21 cm,

then find its volume.

Watch Video Solution

83. A conical solid block is exactly fitted inside

the cubical box of side 'a' then the volume of

conical solid block is . If this statement

true. Justify.

Watch Video Solution

πa34
3

https://dl.doubtnut.com/l/_LKGu0jMJxH7c
https://dl.doubtnut.com/l/_Nmzmg1twHPJ7
https://dl.doubtnut.com/l/_T4dwwa0WDG8k


84. If the surface area of a hemisphere is ,'S'

then express 'r' interms of 'S'.

Watch Video Solution

85. Find the curved surface area of a cylinder

of radius 14 cm and height 21 cm. 

Watch Video Solution

(π = 22/7)

https://dl.doubtnut.com/l/_T4dwwa0WDG8k
https://dl.doubtnut.com/l/_LseXgWMjKRE9


86. Write the formula to find curved surface

area of a cone and explain each term in it.

Watch Video Solution

87. If a cone is inscribed in a cylinder, what is

the ratio of their volumes ?

Watch Video Solution

https://dl.doubtnut.com/l/_Kygo9ptfuyQW
https://dl.doubtnut.com/l/_iPDqU4jUF3xe


88. The vertex angle of a cone is . Find the

ratio of diameter with the height of the cone.

Watch Video Solution

60∘

89. "Cuboid is one of right prism". Is it true?

Justify.

Watch Video Solution

https://dl.doubtnut.com/l/_i1A3J5GEZPV1
https://dl.doubtnut.com/l/_IvubDI5EB7D5


90. A hemispherical bowl has a radius of 3.5 cm

What would be the volume of water it would

contains?

Watch Video Solution

91. If the metallic cylinder of height 4 cm and

radius 3 cm is melted and recast into a sphere,

then find the radius of the sphere.

Watch Video Solution

https://dl.doubtnut.com/l/_5spoNJ6vK89V
https://dl.doubtnut.com/l/_qXnVy6hOESSy
https://dl.doubtnut.com/l/_GVKejI7yuhbu


92. Write the formula for finding lateral

surface area of a cylinder and explain each

term in it.

Watch Video Solution

93. Write the formula to find the volume of a

cone and explain each term in it.

Watch Video Solution

https://dl.doubtnut.com/l/_GVKejI7yuhbu
https://dl.doubtnut.com/l/_Dk0oJeiI1Be4


94. Find the volume of liquid that

hemispherical bowl can hold, where radius of

the bowl is  cm.

Watch Video Solution

4.2

95. The radius of a spherical ballon increases

from 7 cm to 14 cm as air is pumped into it.

Find the ratio of volumes of balloon before

and after pumping the air.

Watch Video Solution

https://dl.doubtnut.com/l/_56cLFlN4gf9L
https://dl.doubtnut.com/l/_7dnUZG7FKgIy


96. Find the volume and surface area of a

sphere of radius 42 cm.

Watch Video Solution

97. A solid metallic ball of volume 64  is

melted and made into a solid cube. Find the

side of solid cube.

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_7dnUZG7FKgIy
https://dl.doubtnut.com/l/_TPPN4w4Se6KT
https://dl.doubtnut.com/l/_8emGDicLOJrE
https://dl.doubtnut.com/l/_IXiVY4PvlJlA


98. A toy is in the form of a cone mounted on a

hemisphere. The radius of the base and the

height of the cone are 7 cm and 8 cm

respectively. Find the surface area of the toy.

Watch Video Solution

(π = 22/7)

99. The diameter of a solid sphere is 6 cm. It is

melted and recast into a solid cylinder of

height 4 cm. Find the radius of cylinder.

Watch Video Solution

https://dl.doubtnut.com/l/_IXiVY4PvlJlA
https://dl.doubtnut.com/l/_lHuOPk48MjXN


100. The height and the base radius of a Cone

and a Cylinder are equal to the radius of a

Sphere. Find the ratio of the their volumes.

Watch Video Solution

101. A right circular cylinder has radius  cm

and height 14 cm. Find curved surface area.

Watch Video Solution

3.5

https://dl.doubtnut.com/l/_lHuOPk48MjXN
https://dl.doubtnut.com/l/_PHb25E1iKXTs
https://dl.doubtnut.com/l/_wLhZz5ztxMdZ
https://dl.doubtnut.com/l/_8DvOEkIVH7Qz


102. The diameter of the base of a right

circular cone is 12 cm and volume .

Find the height .

Watch Video Solution

376.8cm3

(π = 3.14)

103. A medicine capsule is in the shape of a

cylinder with two hemispheres stock to each

of its ends. If the length of cylinder part is

14mm and the diameter of hemisphere is 6

mm. then find the volume of medicine capsule.

Watch Video Solution

https://dl.doubtnut.com/l/_8DvOEkIVH7Qz
https://dl.doubtnut.com/l/_qGu5rnJQy133


104. The area of a sector-shaped canvas cloth

is 264 . With this canvas cloth, If a right

circular conical tent is erected with the radius

of the base as 7 m, then find the height of the

tent. 

(use )

Watch Video Solution

m2

π = 22/7

https://dl.doubtnut.com/l/_qGu5rnJQy133
https://dl.doubtnut.com/l/_Epc4vlRaCcD4


105. DWARCA is supplied cuboidal shaped wax

block with measurements 88 cm  42 cm 

35 cm. From this how many number of

cylinderical candles of 2.8 cm diametre and 8

cm of height can be prepared ?

Watch Video Solution

× ×

106. How many spherical balls each 7 cm in

diameter can be made out of a solid lead cube

whose edge measures 66 cm ?

https://dl.doubtnut.com/l/_0FPvDu1nMPz6
https://dl.doubtnut.com/l/_fN2KzCcWB26M


Watch Video Solution

107. The length of cuboid is 12 cm, breadth and

height are equal in measurements and its

volume is .The cuboid is cut into 2

cubes. Find the lateral surface area of each

cube.

Watch Video Solution

432cm3

108. How many silver coins of diameter 5 cm

and thickness 4 mm have to be melted to

https://dl.doubtnut.com/l/_fN2KzCcWB26M
https://dl.doubtnut.com/l/_kEUG2vcfabIt
https://dl.doubtnut.com/l/_f7rxrLNT5TuC


prepare a cuboid of 12 cm  11 cm  5 cm

dimension ?

Watch Video Solution

× ×

109. A toy is made with seven equal cubes of

sides  cm. Six cubes are joined to six faces

of a seventh cube. Find the total surface area

of the toy.

Watch Video Solution

√7

https://dl.doubtnut.com/l/_f7rxrLNT5TuC
https://dl.doubtnut.com/l/_6swo4DZwQI6N


110. A metallic sphere of diameter 30 cm is

melted and recast into a cylinder of radius 10

cm. Find the height of the cylinder.

Watch Video Solution

111. Draw a cone and label them.

Watch Video Solution

https://dl.doubtnut.com/l/_3hfzPVHXnl5Q
https://dl.doubtnut.com/l/_dJDXXuRjAdv2


112. A cylindrical tank of radius 7 m has water

to some level. If 110 cubes of side 7 cm are

completely immersed in it, then find the rise in

water level.

Watch Video Solution

113. A solid iron has cylinderical shape. Its

height is 11 cm. and base diameter is 7 cm.

Then find the total volume of 50 rods ?

Watch Video Solution

https://dl.doubtnut.com/l/_Spg2miyQDyNV
https://dl.doubtnut.com/l/_WnmEazGFS5ur


114. Find the volume of a sphere of radius 21

cm. (Take =22/7)

Watch Video Solution

π

115. State the relation between r and l (slant

height) of a cone.

Watch Video Solution

https://dl.doubtnut.com/l/_WnmEazGFS5ur
https://dl.doubtnut.com/l/_R817HLNHQwmu
https://dl.doubtnut.com/l/_REj7KEJrsWzj


116. What is area of required cloth to make 10

conical hats having 7 cm ground radius and 24

cm height ?

Watch Video Solution

117. Which kind of cones are formed by

rotating on their axis of following triangles ? 

a) Equilateral b) Right angled 

c) Scalene

Watch Video Solution

https://dl.doubtnut.com/l/_abJZVPu6iomn
https://dl.doubtnut.com/l/_7uqCGhRcdtYB


118. Find the volume and total surface area of

a hemisphere whose radius is 35 cm?

Watch Video Solution

119. A circle having 21 cm radius is cut into 3

equal parts to make 3 equal circular cones.

Then what will be the radius of such cone ?

Watch Video Solution

https://dl.doubtnut.com/l/_7uqCGhRcdtYB
https://dl.doubtnut.com/l/_CUeLYVOwvg0C
https://dl.doubtnut.com/l/_diUzpwevV3hm
https://dl.doubtnut.com/l/_CVlInDrG2CiI


120. Define "Regular cone". Deduce formula for

slant height of a regular cone.

Watch Video Solution

121. The radius of a conical tent is 5m and its

height is 12m. Calculate the length of the

canvas used in making the tent if width of

canvas is 2m.

Watch Video Solution

https://dl.doubtnut.com/l/_CVlInDrG2CiI
https://dl.doubtnut.com/l/_uFTDJU8TTsXM


122. Radius of a cone is 'r', height is 'h' and its

slant height is ' ' then which of the following is

false ?

A. always 

B. always 

C. Always 

D. 

Answer:

Watch Video Solution

l

l > h

l > r

r > p

l2 = r2 + h2

https://dl.doubtnut.com/l/_fMq48hvFR9UI


123. Lateral surface area of a right circular

cone , where ‘l’ is ……….

A. height of the cone

B. diameter of the cone

C. Slant height of the cone

D. None of these

Answer:

Watch Video Solution

= πrl

https://dl.doubtnut.com/l/_aAyzqlfoFre5
https://dl.doubtnut.com/l/_Vy6aYFbE7dh4


124. Radius, height, slant height of a cone are r,

h, l, then 'l' value in terms of r and h is ….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√h2 − r2

√r2 + h2

√r2 − h2

√4r2 + h2

https://dl.doubtnut.com/l/_Vy6aYFbE7dh4


125. Ratio of volumes of two spheres is 8:27

then ratio of their curved surface areas is ……

A. 0.085416666666667

B. 0.16875

C. 0.089583333333333

D. 0.17291666666667

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_b9ma0uxQMm3d
https://dl.doubtnut.com/l/_2t8K5vCV6ojf


126. A solid ball is exactly fitted inside the

cubical box of side 'a'. The volume of the ball is

…

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

πa31

3

πa31

6

πa34
3

πa38

3

https://dl.doubtnut.com/l/_2t8K5vCV6ojf
https://dl.doubtnut.com/l/_57FCF40BpwUE


127. If the total surface area of cube is 96 ,

then side of cube is …………

A. 3 cm

B. 5 cm

C. 6 cm

D. 4 cm

Answer:

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_57FCF40BpwUE


128. Base area of the prism is 30  and its

height is 10 cm. Then the volume of the prism

is ……..

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cm2

300cm3

300cm2

150cm2

150cm3

https://dl.doubtnut.com/l/_LHjKBeYTdUar


129. The volume of a cone with base radius 7

cm is 462 c.c., its height is

A. 9 cm

B. 18 cm

C. 3 cm

D. 27 cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ODz20WNFhauz
https://dl.doubtnut.com/l/_9JK6nsqeQ3sv


130. A cylinder and a cone have equal radii and

equal heights. If the volume of cylinder is 27

cu. units, then the volume of cone is

A. 27 cu. units

B. 18 cu. units

C. 9 cu. units

D. 36 cu. units

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_9JK6nsqeQ3sv
https://dl.doubtnut.com/l/_xDoDyms4M1Gh


131. 


Area of the shaded region is

A. 

B. 

C. 

D. 

r2(2 − π)

r2(4 − π)

r2(5 − π)

r2(6 − π)

https://dl.doubtnut.com/l/_xDoDyms4M1Gh


Answer:

Watch Video Solution

132. Side of a cube and diameter of sphere are

equal, then the ratio of their volume will be

A. 

B. 

C. 

D. 

4: π

6: π

3: π

2: π

https://dl.doubtnut.com/l/_xDoDyms4M1Gh
https://dl.doubtnut.com/l/_rQ2xlksY8Yeg


Answer:

Watch Video Solution

133. A metallic sphere of radius ‘r’ is melted

and recast into the shape of solid cylinder of

radius ‘r’, the height of the cylinder is

A. 3r

B. 

C. 

D. 4r

r
3

4

r
4
3

https://dl.doubtnut.com/l/_rQ2xlksY8Yeg
https://dl.doubtnut.com/l/_xgLxHXytqhwQ


Answer:

Watch Video Solution

134. The volume of a cylinder is given by the

formula , here “h” represents

A. diameter

B. Height

C. Radius

D. Slant height

πr2h

https://dl.doubtnut.com/l/_xgLxHXytqhwQ
https://dl.doubtnut.com/l/_gqQjuS0WxShA


Answer:

Watch Video Solution

135. Total surface area of a solid hemisphere of

radius 7 cm. is …… .

A. 

B. 

C. 

D. 

cm2

293πcm2

499πcm2

221πcm2

129πcm2

https://dl.doubtnut.com/l/_gqQjuS0WxShA
https://dl.doubtnut.com/l/_rVd6A0ZS8HN4


Answer:

Watch Video Solution

136. The curved surface area of a right circular

cone of height 15 cm and base diameter 16 cm

is

A. 

B. 

C. 

D. 

144πcm2

136πcm2

105πcm2

120πcm2

https://dl.doubtnut.com/l/_rVd6A0ZS8HN4
https://dl.doubtnut.com/l/_0F7BW0s7q2NA


Answer:

Watch Video Solution

137. A conical flask is full of water. The flask has

base radius r and height h. The water is

poured into a cylindrical flask of base radius

mr. Find the height of water in the cylindrical

flask

A. 

B. 

h

3m2

h

4m2

https://dl.doubtnut.com/l/_0F7BW0s7q2NA
https://dl.doubtnut.com/l/_TYZ7eKcKGyoC


C. 

D. 

Answer:

Watch Video Solution

3m2

h2

m

3h

138. The surface areas of two spheres are in

the ratio 1:4 then, ratio of their volumes is

A. 0.044444444444444

B. 0.088888888888889

https://dl.doubtnut.com/l/_TYZ7eKcKGyoC
https://dl.doubtnut.com/l/_UVBfFXI8D1cl


C. 0.086111111111111

D. 0.086111111111111

Answer:

Watch Video Solution

139. The volume of the largest right circular

cone that can be cut out from a cube of edge

4.2 cm is

A. 19.4cm3

https://dl.doubtnut.com/l/_UVBfFXI8D1cl
https://dl.doubtnut.com/l/_gSXWZjpggAE6


B. 

C. 

D. 

Answer:

Watch Video Solution

74.6cm3

9.7cm3

8.4cm3

140. The diameter of a metallic sphere is 6 cm

and melted to draw a wire of diameter 0.2 cm,

then the length of the wire is

https://dl.doubtnut.com/l/_gSXWZjpggAE6
https://dl.doubtnut.com/l/_EH05mowNyFlC


A. 48 cm

B. 12 cm

C. 36 cm

D. 24 cm

Answer:

Watch Video Solution

141. A solid sphere of radius r melted and

recast into the shape of a solid cone of height

https://dl.doubtnut.com/l/_EH05mowNyFlC
https://dl.doubtnut.com/l/_xe4pXD0wwzmM


r, then radius of the base of the cone is (of

equal volume)

A. 2r

B. r

C. 3r

D. 4r

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_xe4pXD0wwzmM


142. The ratio of volume of a cone and cylinder

of equal diameter and height is

A. 0.12569444444444

B. 0.043055555555556

C. 0.084027777777778

D. 0.04375

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_wCEajcZCK6CX
https://dl.doubtnut.com/l/_1neJd9cxOzEw


143. A solid iron cuboid of dimensions

 is melted to form a solid

sphere then its radius is

A. 24 cm

B. 21 cm

C. 18 cm

D. 13 cm

Answer:

Watch Video Solution

49 × 33 × 24cm

https://dl.doubtnut.com/l/_1neJd9cxOzEw
https://dl.doubtnut.com/l/_TPZXGMfndCE8


144. If the radii of circular ends of a frustum of

a cone are 20 cm and 12 cm and its height is 6

cm, then the slant height of the frustum is …….

cm.

A. 10

B. 6

C. 9

D. 8

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_TPZXGMfndCE8


145. The number of balls, each of radius 1 cm

that can be made from a solid sphere of radius

8 cm is

A. 64

B. 216

C. 16

D. 512

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_TPZXGMfndCE8
https://dl.doubtnut.com/l/_AqfnEAKfcIsG


146. An iron cylindrical rod has a height 4

times its radius is melted and cast into

spherical balls of the same radius. The number

of balls cast is

A. 4

B. 3

C. 2

D. 1

https://dl.doubtnut.com/l/_AqfnEAKfcIsG
https://dl.doubtnut.com/l/_soT78K2xMYOJ


Answer:

Watch Video Solution

147. The ratio of volume of two cones is 4:5

and the ratio of the radii of their base is 2:3

then ratio of their vertical heights is

A. 0.17013888888889

B. 0.37847222222222

C. 0.12847222222222

D. 0.086805555555556

https://dl.doubtnut.com/l/_soT78K2xMYOJ
https://dl.doubtnut.com/l/_dGZPenGvSpTd


Answer:

Watch Video Solution

148. A cone and a hemisphere have equal

bases and equal volumes then the ratio of

their heights is

A. 0.084027777777778

B. 0.12569444444444

C. 0.16736111111111

D. 0.042361111111111

https://dl.doubtnut.com/l/_dGZPenGvSpTd
https://dl.doubtnut.com/l/_dpkEZoYxwbQd


Answer:

Watch Video Solution

149. The volume of a vessel in the form of a

right circular cylinder is  and its

height is 7 cm, then the radius of the base is

A. 2 cm

B. 8 cm

C. 6 cm

D. 4 cm

448π  cm3

https://dl.doubtnut.com/l/_dpkEZoYxwbQd
https://dl.doubtnut.com/l/_nturDOpCgAs2


Answer:

Watch Video Solution

150. The volume of the greatest cylinder that

can be cut from a solid wooden cube of length

of edge 14 cm is

A. 

B. 

C. 

D. 

2156cm3

1078cm3

539cm3

428cm3

https://dl.doubtnut.com/l/_nturDOpCgAs2
https://dl.doubtnut.com/l/_GFqbQG5pfAu1


Answer:

Watch Video Solution

151. Total surface area of a cube is 

then its volume is ………. .

A. 216

B. 196

C. 212

D. 144

216cm2

cm3

https://dl.doubtnut.com/l/_GFqbQG5pfAu1
https://dl.doubtnut.com/l/_pOj3TA2nebtN


Answer:

Watch Video Solution

152. A shuttle cock is a combination of

A. Cylinder, sphere

B. Sphere, cone

C. Cylinder, hemisphere

D. Hemisphere, frustum cone

Answer:

https://dl.doubtnut.com/l/_pOj3TA2nebtN
https://dl.doubtnut.com/l/_9vCeRdCqLKoh


Watch Video Solution

153. Total surface area of a solid hemisphere of

radius 7 cm. is …… .

A. 

B. 

C. 

D. 

Answer:

cm2

327π

144π

147π

189π

https://dl.doubtnut.com/l/_9vCeRdCqLKoh
https://dl.doubtnut.com/l/_kR7fzipQi6zq


Watch Video Solution

154. If the radius of base of a cylinder is

doubled and the height remains unchanged,

its C.S.A becomes

A. Double

B. 3 times

C. Half

D. no change

Answer:

https://dl.doubtnut.com/l/_kR7fzipQi6zq
https://dl.doubtnut.com/l/_ejQzK1yPz1um


Watch Video Solution

155. The number of cubes of side 2 cm which

can be cut from a cube of side 6 cm is

A. 3

B. 18

C. 27

D. 9

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ejQzK1yPz1um
https://dl.doubtnut.com/l/_xiaopVwgHjrT


156. The volume and surface area of a sphere

are numerically equal. Then the volume of the

smallest cylinder in which the sphere is exactly

kept

A. 

B. 

C. 

D. 

Answer:

54π

27π

36π

9π

https://dl.doubtnut.com/l/_xiaopVwgHjrT
https://dl.doubtnut.com/l/_YotckScJQK5B


Watch Video Solution

157. If the diameter of a sphere is 'd' then its

volume is

A. 

B. 

C. 

D. 

Answer:

πd31

6

πd34
3

πd31

4

πd31

3

https://dl.doubtnut.com/l/_YotckScJQK5B
https://dl.doubtnut.com/l/_CZr5iCyAu7j3


Watch Video Solution

158. If the ratio of radii of two spheres is 2:3

then the ratio of their surface areas is

A. 0.12638888888889

B. 1.1305555555556

C. 0.35208333333333

D. 0.17291666666667

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_CZr5iCyAu7j3
https://dl.doubtnut.com/l/_PAKeLSopykND


159. A cylinder, a cone and a hemisphere are of

equal base and have the same height, then the

ratio of their volumes is

A. 0.12569444444444

B. 0.12640046296296

C. 0.043055555555556

D. 0.043773148148148

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_PAKeLSopykND
https://dl.doubtnut.com/l/_FqAi7VYTaHBy


160. If a cone is cut into two parts by a

horizontal plane passing through the mid

point of the axis, the ratio of the volumes of

the upper part and the cone is

A. 0.043055555555556

B. 0.044444444444444

C. 0.045833333333333

D. 0.047222222222222

Answer:

https://dl.doubtnut.com/l/_FqAi7VYTaHBy
https://dl.doubtnut.com/l/_hZwN5MyovPF4


Watch Video Solution

161. The height of a cylinder is doubled and

radius is tripled then its curved surface area

will become ….. times.

A. 7

B. 6

C. 9

D. 12

Answer:

https://dl.doubtnut.com/l/_hZwN5MyovPF4
https://dl.doubtnut.com/l/_4xSdMPUMHQFS


Watch Video Solution

162. Diameter of a sphere which can inscribe a

cube of edge x cm is ….

A. 

B. 

C. 

D. X

Answer:

x

3

x2

3

x

√3

https://dl.doubtnut.com/l/_4xSdMPUMHQFS
https://dl.doubtnut.com/l/_V5DQZVjXiJ3a


Watch Video Solution

163. Ratio of volumes of a cone, a cylinder and

a hemisphere of same base, radius and equal

heights is ………..

A. 0.043773148148148

B. 0.084108796296296

C. 0.043090277777778

D. none

Answer:

https://dl.doubtnut.com/l/_V5DQZVjXiJ3a
https://dl.doubtnut.com/l/_JwDotYgd0KmH


Watch Video Solution

164. Total surface area of hemisphere of radius

r is ……………

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

πr2

2πr2

3πr2

https://dl.doubtnut.com/l/_JwDotYgd0KmH
https://dl.doubtnut.com/l/_wYKZKZz6m2o5


165. Volume of a frustrum of a cone is …….

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

(R2 + r2 + R. r)
πh

3

(R2 + r2)
π

3

(R2 + r2)
πh

3

https://dl.doubtnut.com/l/_wYKZKZz6m2o5
https://dl.doubtnut.com/l/_WoWiy1wB0vHt
https://dl.doubtnut.com/l/_5dKbJTWGDiV5


166. If the length of each diagonal of a cube is

doubled, then its volume become ……… times.

A. 7

B. 8

C. 9

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_5dKbJTWGDiV5


167. If a right angled triangle is revolved about

its hypotenuse then it will form a ………..

A. double cone

B. Triple cone

C. Only cone

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_KjYtH9uhyqTG
https://dl.doubtnut.com/l/_x8bDxx0DuoV4


168. A solid sphere of radius 10 cm is moulded

into 8 spherical solid balls of equal radius,

then radius of small spherical balls is ……….. cm.

A. 10

B. 9

C. 6

D. 5

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_x8bDxx0DuoV4
https://dl.doubtnut.com/l/_lyJFReUuASsU


169. In a hollow cuboid box of size 

m, the number of solid iron spherical balls of

radius 0.5 m that can be packed …………

A. 71

B. 24

C. 22

D. 16

Answer:

Watch Video Solution

4 × 3 × 2

https://dl.doubtnut.com/l/_lyJFReUuASsU


170. If the external and internal radii of a

hollow hemispherical bowl are R and r, then its

total surface area is …….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

πr2 + R2

πr2 + r2

πR2 + r

π(3R2 + r2)

https://dl.doubtnut.com/l/_emRFNsMdW4w3


171. Volume of cylinder is ……… cu. units.

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

πr2h

πr2

π

r

https://dl.doubtnut.com/l/_PdUt4ncEUC2s


172. Volume of cone is …… cu. units.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

πr2h
1

7

πr3h
1

2

πr2h

πr2h
1

3

https://dl.doubtnut.com/l/_9VHpzJfqvqN9


173. Volume ofsphere is ….. cu. units.

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

πr2h
4
3

πr34
3

πr31

3

https://dl.doubtnut.com/l/_z1tZ1ItKtvnf


174. Volume of hemisphere is …… cu. units.

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

πr2h
1

7

πr2h
1

3

πr32

3

https://dl.doubtnut.com/l/_N6OzZJQe6fDm


175. Volume of cuboid = ……… cu. units.

A. 

B. 

C. lbh

D. none

Answer:

Watch Video Solution

l2b

lbh2

https://dl.doubtnut.com/l/_N3oe0pDjARlp


176. Total surface area of cube is ……….sq. units.

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

πr2 + πrl

πr2 + πr

πr2 + πl

https://dl.doubtnut.com/l/_vBfkF7FhCHEY


177. Total surface area of cylinder is ……… sq.

units.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

πrh + πr2

2πr + π

2πrh2

2πrh + 2πr2

https://dl.doubtnut.com/l/_doQqWhXtREra
https://dl.doubtnut.com/l/_wKNM4ROzA9GZ


178. Total surface area of hemisphere is ………..

sq. units.

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

πr2

h

4πr2

8πr2h

https://dl.doubtnut.com/l/_wKNM4ROzA9GZ


179. Surface area of a sphere is ……….. sq. units.

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

πr2 /2

4πr2

8πr2

https://dl.doubtnut.com/l/_ogIoxIPv2hOY


180. Total surface area of cube is ……….sq. units.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

6l2

4l2

3l2

9l2

https://dl.doubtnut.com/l/_ynfaQZyoxA15


181. Volume of a cube is ….. cu. units.

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

3a3

a2h

a3

https://dl.doubtnut.com/l/_BkaP2YB3gzCP


182. CSA of hemisphere is ……..sq. units.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2πr2

πr2

3πr2

64πr2

https://dl.doubtnut.com/l/_kLaW8XlvRi9Y


183. CSA of cylinder is ….. sq. units.

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

2πrh

πrh

πr/h

https://dl.doubtnut.com/l/_U0YzrZRI4Baw


184. The volume of a cube is 216  then

edge is ……….. cm.

A. 9

B. 10

C. 16

D. 6

Answer:

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_uJAkmgXDihJF
https://dl.doubtnut.com/l/_lA2fK0b1WeWq


185. CSA of cone = …… sq. units.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

π2r2l

πrl2

πr2

πrl

186. In a cone, r=7 cm, h=10 cm then l= ……….. cm.

https://dl.doubtnut.com/l/_lA2fK0b1WeWq
https://dl.doubtnut.com/l/_32spYllhfMRs


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

12.2

9.2

10.1

187. Laddu is an example of ………

A. circle

https://dl.doubtnut.com/l/_32spYllhfMRs
https://dl.doubtnut.com/l/_nxjCJK5Yzvtj


B. Cone

C. Sphere

D. none

Answer:

Watch Video Solution

188. 

A. 

B. 

π

22/7

22/7

https://dl.doubtnut.com/l/_nxjCJK5Yzvtj
https://dl.doubtnut.com/l/_vyROD0tWQiVU


C. 

D. none

Answer:

Watch Video Solution

22/3

189. The volume of a hemisphere of radius 3.5

cm is ………… .

A. 

B. 

cm3

70.73

189.83

https://dl.doubtnut.com/l/_vyROD0tWQiVU
https://dl.doubtnut.com/l/_qehfhyZIvF1l


C. 

D. 

Answer:

Watch Video Solution

189.83

89.83

190. In a cube, a = 4 cm then 

TSA = ………….. 

A. 125

B. 

cm2.

115.5

https://dl.doubtnut.com/l/_qehfhyZIvF1l
https://dl.doubtnut.com/l/_CYShBidKZGef


C. 

D. 810

Answer:

Watch Video Solution

115.5

191. The volume of a right circular cone with

radius 6 cm and height 14 cm is ………. .

A. 462

B. 264

cm3

https://dl.doubtnut.com/l/_CYShBidKZGef
https://dl.doubtnut.com/l/_vPbukmozm0Sa


C. 486

D. none

Answer:

Watch Video Solution

192. In the above problem =…

A. 1

B. 2

C. 3

a5

https://dl.doubtnut.com/l/_vPbukmozm0Sa
https://dl.doubtnut.com/l/_xM2dc9ALf76i


D. none

Answer:

Watch Video Solution

193. A heap of rice is in the form of a cone of

diameter 12 m and height 8 m then volume is

………. .

A. 

B. 

m3

110.53

301.71

https://dl.doubtnut.com/l/_xM2dc9ALf76i
https://dl.doubtnut.com/l/_tPmoXSFocKU9


C. 

D. none

Answer:

Watch Video Solution

310.51

194. In a cylinder, r = 8 cm, h = 10 cm, CSA =

………….. .

A. 

B. 

cm3

3520

7

1520

9

https://dl.doubtnut.com/l/_tPmoXSFocKU9
https://dl.doubtnut.com/l/_OZiPmw5r9ACA


C. 

D. none

Answer:

Watch Video Solution

3310

41

195. A sphere, a cylinder and a cone have the

same radius and same height then the ratio of

their curved surface areas is ……….

A. 0.043796296296296

https://dl.doubtnut.com/l/_OZiPmw5r9ACA
https://dl.doubtnut.com/l/_3eWNnkBvyjLU


B. 0.16945601851852

C. 

D. 

Answer:

Watch Video Solution

1: 5: √3

4: 4: √5

196. In a hemisphere, r = 1.75 cm then CSA =

………….. .

A. 

cm2

38.5

https://dl.doubtnut.com/l/_3eWNnkBvyjLU
https://dl.doubtnut.com/l/_WyTUa1F1Lzry


B. 

C. 

D. none

Answer:

Watch Video Solution

48.5

93.5

197. Volume of cone if r = 2 cm, h = 4 cm is

…………..

A. π
16

3

https://dl.doubtnut.com/l/_WyTUa1F1Lzry
https://dl.doubtnut.com/l/_nSiFDrRiusZl


B. 

C. 

D. none

Answer:

Watch Video Solution

π
6

7

π
18

31

198. Surface area of a sphere and cube are

equal. Then find the ratio of their volumes.

A. √π : 1

https://dl.doubtnut.com/l/_nSiFDrRiusZl
https://dl.doubtnut.com/l/_g69fswQ4yGWr


B. 

C. 

D. none

Answer:

Watch Video Solution

√π : √6

π : √6

199. In a hemisphere, r = 1.75 cm then CSA =

………….. .

A. 210

cm2

https://dl.doubtnut.com/l/_g69fswQ4yGWr
https://dl.doubtnut.com/l/_wGZ0kPs11jMq


B. 308

C. 114

D. 112

Answer:

Watch Video Solution

200. In a cylinder, r = 7m, h = 15 m then V =

…………… .

A. 1170

m3

https://dl.doubtnut.com/l/_wGZ0kPs11jMq
https://dl.doubtnut.com/l/_gOrurTV5zVNm


B. 1120

C. 2310

D. 1320

Answer:

Watch Video Solution

201. Diagonals of a cuboid is ……… units.

A. 

B. 

√l2 + b2 + h2

l√b2 + h2

https://dl.doubtnut.com/l/_gOrurTV5zVNm
https://dl.doubtnut.com/l/_a1Vfhci25m4S


C. 

D. none

Answer:

Watch Video Solution

b√h2 + r2

202. Heap of stones is an example of

A. cylinder

B. cone

C. Circle

https://dl.doubtnut.com/l/_a1Vfhci25m4S
https://dl.doubtnut.com/l/_0PBZLVe3SznS


D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_0PBZLVe3SznS


203. In the figure,  =…………


A. 

B. 

C. 

l2

h2 + r2

√l2 + h2

h2 + r

https://dl.doubtnut.com/l/_ld9yzfc0Om01


D. 

Answer:

Watch Video Solution

h + r2

204. Area of equilateral triangle of side 'a'

units is …….. sq. units.

A. 

B. 

C. 

a21

√3

a24

√3

a
√3

4

https://dl.doubtnut.com/l/_ld9yzfc0Om01
https://dl.doubtnut.com/l/_Ly8ByvRnuUrw


D. 

Answer:

Watch Video Solution

a2√3

4

205. Perimeter of square is 20 cm then A = ……….

A. 12

B. 16

C. 25

cm2.

https://dl.doubtnut.com/l/_Ly8ByvRnuUrw
https://dl.doubtnut.com/l/_CpJ9DDhdXATC


D. none

Answer:

Watch Video Solution

206. Diagonal of rectangle is ………. units.

A. 

B. 

C. 

D. 

√l2 + b2

√l + b

l + √b

√l + b

https://dl.doubtnut.com/l/_CpJ9DDhdXATC
https://dl.doubtnut.com/l/_bU0QKtmt2AgQ


Answer:

Watch Video Solution

207. Diagonal of a cube is ……. units.

A. 

B. 

C. 

D. 

Answer:

3√a

√3a2

√3

a

a√3

https://dl.doubtnut.com/l/_bU0QKtmt2AgQ
https://dl.doubtnut.com/l/_DzctKL2BS3rc


Watch Video Solution

208.  = ………litre.

A. 1

B. 2

C. 4

D. 5

Answer:

Watch Video Solution

103(cm)3

https://dl.doubtnut.com/l/_DzctKL2BS3rc
https://dl.doubtnut.com/l/_ONyLqjqKkw8W


209. Volume of hollow cylinder is ….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

πr − r

πr2 − R

πR2 − r

π(R2 − r2)

https://dl.doubtnut.com/l/_ONyLqjqKkw8W
https://dl.doubtnut.com/l/_8zoC4Vtb4nl5


210. ……… gave the symbol .

A. Euler

B. Pepe

C. Mount

D. None

Answer:

Watch Video Solution

π

https://dl.doubtnut.com/l/_hMbsTeTzVkyB


211. In a cone, (l+r)(l-r) = ………

A. 

B. 2h

C. h

D. None

Answer:

Watch Video Solution

h2

https://dl.doubtnut.com/l/_FXO0xomu2f5l


212. A cuboid has dimensions 

then its volume is ……..

A. 190

B. 780

C. 680

D. 480

Answer:

Watch Video Solution

10 × 8 × 6cm

cm3.

https://dl.doubtnut.com/l/_7VL5B88reggG
https://dl.doubtnut.com/l/_VVoEYVXEhVzi


213. CSA of a cone is 4070  and its

diameter is 70 cm then slant height is ………..

A. 27

B. 17

C. 37

D. 16

Answer:

Watch Video Solution

cm2

cm.

https://dl.doubtnut.com/l/_VVoEYVXEhVzi
https://dl.doubtnut.com/l/_i3Nm8vHEtFK3


214. The sphere is of radius 2.1 cm then its

volume is ………. 

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

cm3.

38.08

381.2

83.01

https://dl.doubtnut.com/l/_i3Nm8vHEtFK3


215. In  then l =

……….

A. 20

B. 17

C. 16

D. 19

Answer:

Watch Video Solution

l2 = h2 + r2, h = 15, r = 8

https://dl.doubtnut.com/l/_DhmWe9Dafte0
https://dl.doubtnut.com/l/_hQ2gjAsRLFaY


216. The surface area of a sphere is 616 sq.cm.

then its radius is …… cm.

A. 16

B. 12

C. 9

D. 7

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_hQ2gjAsRLFaY


217. Base circumference of a cylinder is 220 cm

and height is 63 cm then 

CSA= …………. .

A. 11810

B. 11680

C. 13860

D. 18360

Answer:

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_n9ZcSmJQJ4IQ


218. In a cone, d = 14 cm, l = 10 cm then 

CSA = …………. .

A. 220

B. 140

C. 160

D. None

Answer:

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_eaZ9DwEuoIVX
https://dl.doubtnut.com/l/_lGWvvNrnww2W


219. In a cube, a = 4 cm then 

TSA = ………….. 

A. 12

B. 70

C. 90

D. None

Answer:

Watch Video Solution

cm2.

https://dl.doubtnut.com/l/_lGWvvNrnww2W


220. Number of edges of a cuboid is ……

A. 11

B. 16

C. 10

D. 12

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_cmXblpXA088u


221. If the diagonals of a rhombus are 10 cm

and 24 cm then area is ……. 

A. 120

B. 160

C. 180

D. None

Answer:

Watch Video Solution

cm2.

https://dl.doubtnut.com/l/_x8ih1JiOxJyv
https://dl.doubtnut.com/l/_U7m7xbs1ladB


222. Volume of cone with d as diameter and h

as height is ……… 

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

units3.

πd2

6

πr2h

12

πdh2

12

https://dl.doubtnut.com/l/_U7m7xbs1ladB


223. The area of the base of a right circular

cone is 78.5 . If its height is 12 cm then its

volume is ………. .

A. 110

B. 814

C. 413

D. 314

Answer:

Watch Video Solution

cm2

cm3

https://dl.doubtnut.com/l/_mS93dImWO3le


224. The volume of a cuboid is 3,60,000 

If its area is  then 


h = …………..cm.

A. 70

B. 60

C. 

D. None

Answer:

Watch Video Solution

cm3.

5, 600cm2

95.5

https://dl.doubtnut.com/l/_wMwcOQDjwR2D


225. The volume of cone is 

then h = ……. cm.

A. 9

B. 10

C. 11

D. None

Answer:

Watch Video Solution

462cm3, r = 7cm

https://dl.doubtnut.com/l/_nq9afmfhysM3
https://dl.doubtnut.com/l/_fwBw5eq3FuBE


226. In a cylinder, h = 14 cm, V = 176 , r =

……………….. cm.

A. 1

B. 10

C. 6

D. 2

Answer:

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_fwBw5eq3FuBE


227. The area of equilateral triangle is

 then the perimeter is ……… cm.

A. 36

B. 63

C. 16

D. 10

Answer:

Watch Video Solution

36√3cm2

https://dl.doubtnut.com/l/_MOi2bNxlH5Nr
https://dl.doubtnut.com/l/_HAGqTvWReFTU


228. TSA of cylinder is , h = 20 cm then

its volume is ……… cm.

A. 1080

B. 3080

C. 1480

D. 9023

Answer:

Watch Video Solution

1188cm2

https://dl.doubtnut.com/l/_HAGqTvWReFTU


229. Surface area of a cube of side 27 cm is

………. .

A. 1474

B. 8174

C. 1374

D. 4374

Answer:

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_D5iLRl0ZBVzp
https://dl.doubtnut.com/l/_PQnp2JmC4zdt


230. The perimeter of an equilateral triangle is

60 cm then its area is …………… 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cm2.

149.3

170.1

137.4

173.2

https://dl.doubtnut.com/l/_PQnp2JmC4zdt


231. Volume of hemisphere is 19404  then

its TSA = ……….. .

A. 4118

B. 3158

C. 1459

D. 4158

Answer:

Watch Video Solution

cm3

cm2

https://dl.doubtnut.com/l/_hatUuyJQXJyH
https://dl.doubtnut.com/l/_2B71MI2vq9KO


232. If the diagonal of a cube is 2.5 m then

volume is …………. 

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

m3.

3.01

4.01

8.1

https://dl.doubtnut.com/l/_2B71MI2vq9KO


233.  then r = ………..

A. 13

B. 19

C. 10

D. 12

Answer:

Watch Video Solution

r3 = 1728

https://dl.doubtnut.com/l/_GmNlnohA4NsC


234. Football is an example of ……

A. circle

B. Sphere

C. Cone

D. None

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_lLY4J9Djwzh0


235. Number of faces of a cuboid is ……

A. 9

B. 10

C. 6

D. 8

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_JbQ583zml6hS


236. The total surface area of a cube is 54 

then its side is ……… cm.

A. 6

B. 9

C. 12

D. 3

Answer:

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_49tehM7NVEmf
https://dl.doubtnut.com/l/_Em2lRWgvvNfH


237. Base area of a regular cylinder is 154 

then its radius is ……….

A. 49 cm

B. 7 cm

C. 22 cm

D. 14 cm

Answer:

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_Em2lRWgvvNfH


238. If the height and radius of a cone are 1.5

and 8 cm then its slant height = ……….. cm.

A. 

B. 

C. 5

D. 10

Answer:

Watch Video Solution

2.5

7.5

https://dl.doubtnut.com/l/_q3xuawIyT0DI
https://dl.doubtnut.com/l/_NRjKyh3CWSyH


239. Curved surface area of a hemisphere =

……………

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

πr2

πr21

3

3πr2

2πr2

https://dl.doubtnut.com/l/_NRjKyh3CWSyH


240. Volume of a cube having 1 cm side is

………….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1cm3

3cm3

1cm2

3cm2

https://dl.doubtnut.com/l/_Q03nUix5wDvk
https://dl.doubtnut.com/l/_M4ZqoK0s245U


241. Ratio of volumes of two spheres is 8:27

then ratio of their curved surface areas is ……

A. 0.085416666666667

B. 0.18541666666667

C. 0.33958333333333

D. 0.17291666666667

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_M4ZqoK0s245U


242. Football is an example of ……

A. circle

B. cylinder

C. Sphere

D. Cone

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_5o9R3tO33LHE


243. The volume of a cube is 216  then

edge is ……….. cm.

A. 6

B. 4

C. 8

D. 16

Answer:

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_4RkzQr1YRflU
https://dl.doubtnut.com/l/_3bxoedpeBo85


244. the curved surface area of a right circular

cylinder is …….. sq. units.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

πr2h

2πr(h + r)

2πrh

πrl

https://dl.doubtnut.com/l/_3bxoedpeBo85

